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Section A

Questions 1 to 14 carry 2 marks each.
For each qua;tion, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or-4). Shade the-oval (1, 2, 3 or 4) on. the Optical Answer
Sheet witha 2B pencll

(28 marks})

1 In the number 46 592, what is the value of the digit 4?

0]
@
3)
(@)

40 ones
40 tens
40 hundreds

40 thousands

2 14 t_housands, 2tens and 16 ones is

{0

8
{2)
| @
(4)

1=

{
(2
8
@

P4 Malh CAT 2013

14 016
14.036
14 216
14 306

60 x 30

60 x40

70x30
70 x40

78 354
78305
78 296
78 246

Which of the following is the best estimate of 62 x 357

Which of the following numbers when rounded off to the nearest ten is 78 3007?
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5 What is the remainder when 1928 is divided by 67

M 1
2 2
G 5
4 4

6 Which of the following is a muitiple of both 3 and 97

(1 5
@ 12
® 3
{4) 18
7 Which one of the letters does not have parailel lines?
m E
@ M
@ A
w F

'8 When a number is divided by 7, it has a quotient of 423 and a remainder of 6.

What is the qumber‘?
(1) 2961
2) 2966 i
) 2967
4 2969
P4 Math CA1 20113 -7
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9 Mrs Goh gave her pupils 5 sweets and had 3 sweets left. If she gave each of
- them 4 sweets, she would have 8 sweets left over. Which of the following is a.

possible number of sweets she had?

(1)

{2
(3)
(4}

13

10 Which of the following figures contains both parallel and perpendicular lines?

(2)

3)

@

~

/

~Z

11 A television set and a DVD player cost $3840. The television set cost four times as
much as a DVD player. How much does a DVD player cost?

M

@
3)

4)

P4 Math CA1 2013

$640
$768
$960

$1280
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12 66x55isthesameas 60 x 55+

M
@
3}
4

6

30

55

330

. 8 )
13 Express 4-— as an improper fraction in'its simplest form.

(1

)

3

{4

12
2

4—

3

14
3

)
6

56

12

14 Rajah was given 2 hours to do his Mathematics homework. He completed it g— hour

earlier than the given time. How long did he take to complete the Mathematics

homework?
m 2
@ 2
@ 1 %
@ 1 —g-

P4 Math CAT 2013
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Section B . .
Questions 15 to 34 carry 2 marks each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (40 marks)

15 Wite 63 015 in words.

Ans

16 Arrange the digits 3, 0, 9, 8 and 1 to form the smallest 5-digit odd number.

17 Find the sum of the third multiple of 6 and the sixth multiple of 9.

18 What number is 100 more than 58 93672

P4 Math CA1 2013 5 -
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19 Express 12 fifths as a mixed number.

20 2+

+
o le ]
it

Give your answer in the simplest form.

AW

21 Xiao Tong bought 6 baking pans at $39 each and an oven at $549. How much did he
spend altogether?

Ans: §

22 Find the product of 345 and 27.

P4 Math CA1 2013 &
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23 The figure below is made up of identical rectangles.
What fraction of the figure is not shaded?

Ans:

24 A whole number is 300 when rounded off to the nearest hundred.” What is the
greatest possible value-of the number?

25 A 2-digit number gives a remainder of 1 when divided by 3. It also gives a remainder
of 3 when divided by 4. What is the smallest possible vaiue of this 2-digit number?

6
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26 Look at the pattern below. What is the missing number?

Ans:

27 Rashida had 30 sweets. She gave 11 sweets to each of her two sons and 3 sweets o

her daughter. What fraction of her sweets had she left? Express your answer in the
simplest form.

Ans:

28 At a student legd’ership camp, some girls and boys were put into groups. In each
group, there wére 9 girls and 8 boys. If there were 144 girls, find the number of
oys.

P4 Math GA1 2013 8
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29 The difference of two numbers is 36. If the bigger number is 3 times the smaller
number, what is the smaller number?

Ans:

30.  Mary collected 285 stamps. After she gave 53 stamps to Kelly, they had the same
number of stamps. How many stamps did Kelly have at first?

31 Study the figure below.
(&) How many sides does the figure have?

(b) How many angles more than 90° are there inside the figure?

Ans: (a)

)

P4 Math CAT 2013 9
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32  Siti bought oranges at 3 for $5. What was the maximum number of éranges that she
could buy with $567? '

Ans:

33 Bala and Cindy had the same number of pencils. Bala sold 360 pencils while Cindy

sold twice as many pencifs as he. If Cindy had 568 pencils left, how many pencils did
Bala have at first? :

Ans:

34  When Gary was 6 years old, his mother was 5 fimes as old as he. When his mother
is 40 years old, how old will Gary be?

Ans:___ years old

P4 Math CA1 2013
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Section C
Questions 35 to 38 carry 3 marks each. Questions 39 to 43 carry 4 marks each. Show

your working clearly in the space provided below each question and write your
answers in the spaces provided. : : {32 marks)

35  Mrs Tan had 2210 sweets, She gave away 24 sweets and packed the remaining
sweets equally into 7 packets.
(a) How many sweets were there in each packet?
{b) How many sweets were left unpacked?

Ans: (a) {2}
(b) ' [1]

36 Andy ﬁas 220 stamps. Benny has thrice as many stamps as Andy. Casey has half as
many stamps as Behny. How many stamps do the three children have altogether?

- Ans: - . [3]

P4 -Math CA1 2013 11 |
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37  The total mass of a table énd achalris g- kg. Given that the table weighs % kg,

how much heavier is the table compared to the chair?
(Express your answer in the simplest form.)

Ans: [3]

38  Mr Lim bought 4 shirts and 3 pairs of shoes for $281. Each pair of shoes cost $12
more than each shirt. What was the cost of each pair of shoes?

Ans: 3]

P4 Math CA1 2013 ‘12
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39 Abbie bought some flour to make some buns. Abbie bought 13009 of flour less than
‘ Betty. Catity bought 900g of flour more than Abbie, If they bought 14 5009, how
much flour did Catty buy? (Give your answer in grams)

Ans : [4]

40 Lamp-posts are placed along a road from one end to the other end at an equal
distance of 2m apart from each other. The road is 32m fong.

a) Find the number of lamp-posts placed along the road.
b) If each lamp-post cost $140, how much would be needed to pay for all the
lamp-posts needed for the road?

Ans: (a)_ [2]
() . [2]
8
P4 Math CA1 2013 43
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41 A fruit stall had a total of 365 apples and .oranges. There were 4 times as many
apples as oranges. After  appled Z8d some oranges are sold, there were twice as
many apples as-oranges left. How many oranges were left in the stali?

Ans: (4]

42  Xiao Tong has -g— kg of flour. Yasmin has g kg more than Xiao Tong.
a) What is the mass of Yasmin's flour?
b) After Yasmin used %- kg of flour and Xizao Tong bought some more flour, they

have the same amount of flour in the end. How much flour did Xiao Tong buy?

[1]
3]

P4 Math CA1 2013 14
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43 Raj bought the same number of table tenms rackets and table nets. The total cost of
‘3 table tennis rackets and 2 table nets was $68. The total cost of 1 table fennis -
racket-and 2 table nets was $36. He spent a total of $130. How much does 1 racket
and 1 table net cost?

End-of-paper
Please check ydur work Careﬁjlly.~ '
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EXAM PAPER 2013

SCHOOL : AI TONG

SUBJECT: PRIMARY 4 MATHEMATICS
TERM : cCA1

[ 01 Q2103104 Q506 Q708 Q9 _1Q10}011 Q12 | Q13| 014
g 2 2 4 2 | 4 3 3 4 1 2 2

Q15) Sixty-three thousand and fifteen#
Q16) 10 389
Q17) 72
Q18) 59.036
Q19) 2 2/5
Q20) 3 3/8
Q21) 783
Q22) 9315
Q23) 10/16
Q24) 349
Q25) 19
Q26) 136
Q27) 1/6
Q28) 128
Q29) 18
Q30) 179
Q31a) 4
Q31b) 2
Q32) 33
Q33) 1288
Q34) 16
Page 1 of 3
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Q35a) 2210 - 24 = 2186
) 2186 /7 = 312 R2
~Ans: 312

Q35b) Ans: 2
Q36) 220 x 3 = 660
660 / 2 =330 |
660 + 330 + 220 = 1210
Ans: 1210

Q37) 5/6 —7/12 = 3/12
7/12 = 3/12 = 4/12 = 1/3
Ans: 1/3 kg

Q38)3x12 =36
281 - 36 = 245
245 /7 =35
35+12 =47
Ans: $47

QQ39) 14500 — 900 — 1900 = 11700
11700 / 3 = 3900
3900 + 900 = 4800
Ans: 48009

Q40a)32/2 =16
16+1=17
Ans: 17 .
- Q40b) 140 x 17 = 2380
Ans: $2380

Q41)365/5=73
365 — 158 = 207
207 /3 =69

Ans: 69 oranges

Page 2 of 3
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Q35

840- 49= 791
791/7=113

113 x 8=904

Huixin left with $§904 left
Q36

75+45=120

4u=120

lu=30

45-30=15

Zhi ITao must give Aaron 15 stickers.

Q37

3x 20=60

30x20=600

600-60=540m"

540m” was the area covered by glass.

Q38

10/5=2

2x2=4

Perimeter= 10+10+4-+-10+10+10+10+4=68cm
The perimeter of the rectangle is 68cm

Q39

Inb= $11-$4=§7

3nb= $7x3=821
4dp+3nb=$16+321=$37
The cost is $37.

Q40

336/4=84

84/3=28

Siti have 28 blue beads
84x3=252

252/2=126

336-126=210

She would have 210 beads left.
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28/4=7

52-7-7=38
38/2=19 > m=1
19-7=12

ED 1s 12cm
19x7=133

The areais 133cm

Q42

Area of A: 9x7=63

Area of B: 14x3=42

Area of C: 21x6=126

Total area: 63+42+126=231cm’

The area of the figure is 231cm”. _

Q43
$120-$24-$24=$72

$72-$24=%48
$72+8$24+348+524=F168
Jiale had $168 at first.
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Q4Za) 4/9 + 8/9 =1 1/3
Ans: 1 1/3kg
Q42b) 2/3 x 1 1/3 = 8/9
8/9 —4/9 =4/9
‘Ans: 4/9 kg

Q43) 68 — 36 = 32
32/2=16
36 -16 =20
20/ 2 =10
10 + 16 =26
Ans: $26

Page 30f3
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Section A : Mental Sums (5 marks)

(e

10

2 (Go on to the next.page)
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Section B

Queslions 11 to 15 carmy 1 mark each. Questions 16 o 20 carmy 2 marks sach,
Far each question, four cplions are given. Cne of them is the cormect answer, Make your
choice (1, 2, 3 or 4). Shada the oval {1, 2, 3 or 4) on the Cplical Answer Sheaet,

11

12

13

14

(15 rarks)

. — = -—

What iz the value of the digit 2 In 32 1507

1y 3 iens

2} 3 mmdreds

(3 3 thousands

4}  3ienthousands

Arrange the fallowing numbers in erder, baginning with the greatest,
96 305, 96 530, 96 503

(1) 5 530, 96 503, 88 045
(2) 96 530, 96 305, 98 503
(3) 96 503, 58 530, 96 305
{4) 98 308, 98 503, 95 530

Which of the folowing has the same value as 2 thousands and 170 tens?

) 2170
& 3700
3 21700
(o) 37 000

What is Ihe best estimate of 85 x 897
(1) 500 = BD
(2} 900 x 5D

(3 1000 x &)
() T o )

3 (54 an o he nexd page)
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15

Arﬁount of money collected ($)

16

17

The line graph below shows the amount of money the National Charity Fund
collected each week over five weeks.

Money collected over five weeks

3rd 4111 5"‘!

Week

2 nd

_During which 1-week interval was the increase in the amount of money collected
the greatest?

(1)
(2)
(3)
)

1%t to 2™ week
2™ to 3" week
3% {0 4™ week
4% to 5¥ week

How many common factors do 8 and 24 have?

(1
(2)
(3)
)

1
2
3
4

What is the sum of the first two common mutltiples of 4 and 67

4 {Go on to the next page)
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18

19

20

(1)
2)
3
@

10
24
36
72

When a number is divided by 5, the quotient is 8 and the remainder is 3.

What is the number?

(1)
(2)
(3)
(4)

24
29
40
43

Alice has 25 stamps. Noah has 16 times as many stamps as Alice. Noah has 4
times as many stamps as Victoria. How many stamps does Victoria have?

{1
(2)
(3)
(4)

45

100
164
1600

In a carpark, the cars are parked in straight rows. Each row has an equal number
of cars. When Mr Lee is in his car, he realises that there are 6 cars to his right and
3 cars to his left. There are 2 rows of cars in front of him and 2 rows of cars behind
him. How many cars are there in the carpark altogether?

(1)
(2)
(3)
(4)

40
50
72

{Go on to the next page) _
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28 Atotal of 1450 people watched a movie last Saturday. There were 588 more
adults than children. How many children were there in the theatre?

Ans:

29  DrToh saw some patients on Monday. Every day from Tuesday to Wednesday,
he saw 3 more patients than the day before. He saw a total of 78 patients from
Monday to Wednesday. How many patients did he see on Monday?

Ans:

8 (Go on to the next page)
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Section D

For questions 30 to 33, show your workmg clearly and write your.answers in the space
provided. The number of marks available is shown in brackets [ . ]atthe end of each
question or part-question, (16 marks)

30 Nazrul saves $180 a day.
Shao Ming saves $257 more than Nazrul every day.
How much do they save altogether in 7 days?

Ans: . 4]

31 Jaslyn paid a total of $572 for 4 tables and 6 chairs.
Each table costs $38 more than each chair.
What is the cost of each chair?

Ansi_____ {41

9 {Go on to the next page)

School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

- Need é home tutor? Visit smiletutor.sg



32

33

Tina sells a box of cookies for $6.
James sells a box of cookies for $9.

(a) List the first 7 multiples of 6 and 9.

(b) What is the least number of boxes of cookies that Tina must sell before she
earns the same amount of money as James?

(a) Multiples of 6: ' 11
Multiples of 9: (1]
(b) Ans: 2]

May, Allen and Jane have 360 erasers altogether.
After May gave Jane 20 erasers and Allen gave Jane 70 erasers, all of them had
an equal number of erasers.

(@) How many erasers did Allen have at first?
(b) How many erasers did Jane have at first?

@Ansi__ T 2]

(b} Ans: _ [2}
End of Paper )

10
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EXAM PAPER 2013

SCHOOL : METHODIST GIRLS’
SUBJECT : PRIMARY 4 MATHEMATICS
TERM : CAl

{311 Q12 Q13‘ Q14 [ Q15 Q16 | 017 QiB Q19 | Q20
4 ‘

Q21) 240
Q22) 10
Q23) 15
Q24) 85230
Q25) 23613
Q26) 6300
Q27) 48
Q28) 431
Q29) 23

Q30) 180 x 7 = 1260
257 + 180 = 437

437 x 7 = 3059
3059 + 1260 = 4319
~ Ans: $4319 -
Q31)38x 4 = 152
572 - 152 = 420
420 / 10u = 42
Ans: $42

Pagé 1 of 2
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Q32a) 6, 12, 18, 24, 30, 36, 42
9, 18, 27, 36, 45, 54, 63, 72, 81

Q32b) 18/6 =3
Tina must self 3 boxes of cookies.

Q33a) 360 /3 =120
120 + 70 = 190
Ans: 190 erasers

Q33b) 120-90 = 30
Ans: 30 erasers

.Page 2 of 2
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SECTION A — (5 x 2 marks)

There are 5 questions in this section.

Read the questions carefully. Choose the correct answer.
Wirite its number 1, 2, 3 or 4 in the brackets provided.

1) In 34 569, the digit '3’ stands for

(1) 30 2) 300

(3) 3000 (4 30000 C )
2)  90170is moresthan 89 170.

(1y 10 (2) 100

3) 1000 - (4) 10000 (' )

3)  Whichis NOT a multiple of 67

(1) 36 (2) 56

(3) 132 (4) 264 ¢ )
4} Which one of the following are factors of 45?7

(1) 1and4 - ] (2) 4dand5

(3) 4and9 4 Sand9 ¢ )

5)  The product of 49 and 6 when rounded off fo the nearsst ten is
() 200 ‘ @ 290

(3) 300 (4) 390 ()
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SECTIONB~(6x 2 marks)

There are 5 questions in this section.

Read the questions carefully. Write your answer in the space provided.
Show ALL your workings clearly. o

| 6a) Forty-eight thousand and three written as a numeral is F

b)  In the number 35 687, the digit 5 is in the place.
7a) 89 95_1 is when rounded off to the nearest hundred.
b) List all the factors of 16.
8) A numbe'rjs 540 when rounded off to the nearest ten. The greatest possible value of
| the number is
T3 | portc
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" 9) 87 x65=

10) I am a multiple of 8.

One of my factors is 5.

I am greater than 40 but less than 100.

lam | |

11} - Kelly saves $29 each month.

She can save $ F in 2 years.

_4_
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SECTIONC —(2x 4 marks)

There are 2 questions in this section,

Read the questions carefully. Show all your working clearly.
Write your number sentence and statement,

12) Mark had 45 bags of marbles. In each Bag, there were 268 marbles. He then shared

them equally with 4 friends. How many m’arbles_ did each child receive?

Working

- had ’ School
> port
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13) Lily has 2 066 red and blue beads. She has 198 more blue beads than red beads.

How 'many blue beads does she have?

Working

Have you
checked
your work?
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EXAM PAPER 2013
SCHOOL : ROSYTH

SUBJECT : PRIMARY 4 MATHEMATICS

TERM : cA1 (Topical Test 1)

Lﬁl Q2] Q30405
4

Q6a) 48003

Q6b) thousands

Q7a) 90000

Q7b) 1, 2, 4, 8, 16

Q8) 544

Q9) 5655

Q10y80

Q11) 696

Q12) 268 x 45 = 12060
12060/5 = 2412
Each child received 2412 marbies.

Q13) 2066 - 198 = 1868
1868/2 =934
934+ 198-= 1132
She has 1132 biue beads,

Page 1 of 1
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Al TONG SCHOOL

2013 -
CONTINUAL ASSESSMENT 2
~ PRIMARY 4

MATHEMATICS

~ ‘DURATION : 1'h 45 min
DATE ~ : 23" August2013

INSTRUCTIONS

Do not open the booklet until you are told to do so.

.. Follow all instructions.
- Answer all questions.

__ . o Section A i 23 ”
Name :_ . _ MR G B S "

Class :Primary 4__ Sgcﬁon‘B |~ .

| SectionC

1 Parent’s Signature :_

| Total

| Pate.
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Section A '

Questions 1 to 14 carry 2 marks each, For each questaon four optlons are given. One of
them is the correct answer. Make your-choite (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4)
on the Optical Answer Sheet with a 2B pehcil. (28 marks)

1 The value of the digit 7 in 25 703 s

(1) 70ones

@ 70 tens

(3) 70 hundreds
(4) 70 thousands

2 Express 55}- as a decimal.

(1) 0.08
@ 018
® o045
@) . 0.80

3 ' Apark has a jogging track of 1537 m. Tammy j jogs 3 tzmes round it. What is the total
distance he has jogged?

¢

(1) "3159m
@  3811m
@) 4591 m
@ 4611m

4 How.many line of symmetry does the figure have?

3

0 4P
(3) 3 N \ |
@ 4 . ~_7

P4 Math CAZ 2013 ) o | ; | 1
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5 Which one of the following fractions is nof equivalent io%? '

8
1 _—
M 14 7
N VA
{2 7
20
3 —_—
@ &
24
4y =
@ 3
6 ‘ How many pairs of parallel lines are there in the figure below?
1 1
@ 2
@ 3
4 4

7 Wﬁi(:h of the folléwing'-stéteméntsris correct‘?
(1) 4isafactor of 38,
@y | 6 is a factor of 72.
(3) 8isacommon factor of 72 and 84,

{4)  9is a common factor of 38 and 79.

| PaMahcARZiizt g
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g 7 tens 3 ones 4 tenths 2 thousandths is equal to

(1) 73.042

{2 73402
(3) 703.042
(4) 703.420

9 957 thousandths rounded off to 2 decimal places is

(Y 957
) 1.00
(3) 090

(4) 096

10 Amy spent $23.55 on a pair of shoes and $3.95 on a panr of socks. How much-had
she left if she had $50 at first?

(1) $22.50 ]
(2) $2645 -

(3 $27.50

4)  $46.05

11 37 532 visitors visited the S.E.A Aquarium on Sunday. This was 7200 more than the
number of visitors on Saturday. How many vigitors visited the S.E.A Aguarium on

Saturday and Sunday?
() 30332
2 44732
| (3) 67864
{4 82264
P4Ma{];mgénj3‘. | : ¢ 3
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(1)
(2)
(3
(4)

$0.30

$3.00

$6.00

$12.00

. 12  Cherie saves the same amount every day. If she saves 60 cents it 2°days, how
much.will she save in 10 days? '

13 Rajaate %_o_f the pizza in the moming. He ate %"Of the same pizza in the

afternoon. What fraction of the pizza was left?

Q)

(2)

©

4)

o] &

3o

14 The figure below is made up of 2 squares, A and B. What is the perimeter of the

figure?

N

@
3)

@.

12 cm | A

B4 cm

88 cm-
100¢m.

112 om

P4 Math CA22013 -
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Section B o . -
Questions 15 to 34 cairy 2 marks each. Write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

(40 marks)

15 What is the missing humber in the box?

1|1!1||~|| L1
'Illlllill I

P Y

|I‘lll’|1ll]‘i l||1!|
|I||l| L L |||F||

20.350 20.36 20.37

16 Find the value of 134 divided by 7. Round off the answer to 1 decimal place.

Ans:

17 Whatis the product of 95 and 597

Ans:

18  Whatis the diffe'rence__betv:v_een the second muiltipte of 8 and the fifth multiple of 9?

Ans:

P4Malh CA2 2013 -« 5
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19 There are 396 people at a family day camival.-How many children d@re there if every
- family has only 2 adutts and 1 child? . '

20 What Is the sum of 860 thousands, 66 hundreds and 6 fens?

21 The length of a rope is 23.27 m. What is the length of 5 such_ro'pes?' :

Ans: _m

. 22 Caleb has 229 beads. He has 23 beads more than Jessie. Bntney has tw;ce as,
" many beads as Jessie. How many beads does Bntney have?

P4 Math CAZ 2013 : ] - ' 7 8
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23 Amange the following from the largest to the smallest.

0503, — ,0.53 ,3.05

SN

24  Two numbers, Y and Z, have only 2 factors each.
The product of Y and Z is 21. Y is smaller than Z. What number could Y and Z be?

Ans:Y =

25  Complete the symmetric figure with line AB as the line of symmetry.

A
1 o)
B g3
6
P4MathCA22013 S 7
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26 How many eighths are there in 3:}?

27  How many pairs of perpendicular lines are there in the figure below?

28  Draw and label Line EF; passing through point X, such that it is paraliel to Line AB.

n
X

P4Math CAZ 2013 - _ o ) 8
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29  Sally collected 140 beads. She gave 28 of them to her sister and some beads_to
Grace. She then found that she had %‘df the béads left. How many beads did she

‘give to Grace?

Ans:

' 30 Givenline AB, draw and label ~ABC, such that it is 38%

. PaMancaz20is Sk 9
o . . -n—
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3 Simon is at home. His house doof is facing south-west. f he were fo make a 135°
turn anti-clockwise after stepping out of the house, where would he be facing?

Playground
ya N

AN

Shopping Mall  ——— lHome

School

Garden

32" Fhe ‘ﬂ,g’iﬂ;‘é below is made up"df'idenﬁcai {-éni squares. Find the perimeter of the '

Vs‘haded-‘pa}'t;
77/ W7%,
DY
Ans: ‘ o __cm
- ‘ 7 7.4
P4 Math CA2 2018 . ] . .10 —
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33 The figure below is- made up of Square A and Rectangle B The length-of Square A
- is twice the breadth of the Rectangle B. Find the area of the whole figure.

18 cm

[
»

A
B _IScm

F

Ans: - _em?

34 - Sam has agreen rod which measures -;— f'n"_]an‘g-éndd'amie has a Yétiow rod which

is 3.52 m longer than Sam’s rod. Whatis the total Jength of their rods?
{Give your answer as a decimal.)

P4 Math CA2 2013 = .o 11
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-Section ol

Questions-35 to 38 carry 3 marks each. Questions 39 to 43 cany4 marks’ each Show your -
working clearly in the space prov-ded below each question and write your answers in the
spaces provided. (32 marks)

35 ° Simei bought 7 packets of apples and 3 packets of pears for $38.50. The costofa "= -
packet of pears is 50 cgnts more than a packet of apples. How much is 10 packets -
of apples?

36  Sally had 15 kg of fiour. She used -g- ofitto bake.a-few-cakes and gave 55-_kg to her

sister to bake cookies; How much flour had she feft? i o .

Ans: 3]

P4 Nalh CAZ 2013 : , 12
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37 The d:agram below shows 3 bars, A, B and C. Gwen that the total Iength of the 3
- bars is 3520 cm, find the length of bar-C:

3 755 cm , A
i L 530 cm i
B >
C
Ans; e 03]

38  Mrs Teh bought 30 05 m of cloth. After sew;ng a bed cover and 4 pillow cases, she

had 9.65 m of cioth left. She used 4.4 m of cloth for the bed cover. How many
metres of cloth did she use for each-pillow case?

'_ Ans: o I3]

P4 Msth CA2 2013
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39 The total mass of John and David is 150.4 kg: The total mass of Rov and David is
138.6 kg. The total mass of the 3 boys is 216.4 kg
(a) What is the mass of David? -
{b) What is the mass of John? _

CAns:{a) ' [3]

O N 1]

40 Jeremy has 541 stamps. Kelvin has 55 stamps Iess than Jeremy but has-thrice as
many stamps as Leo. How many more stamps do Kelvin and | eo have aftogether

than Jeremy?
Ans:__ - " [4}
P4 Math CA2 2013 SR - S 14 8
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41 _ Cally had some stickers. After giving’ % of her stickers to Henry and 95 to Aileng,

Cally had 105 stickers left How many stickers did Cally-have at first?

Ans: - ‘-._{"4]'

P4 Math CA2 2013

15
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42

36 cn¥? y

Y

14 cm

The figure above is made up of 2 identical big squares, 1 medium shaded square,
1 small square and 1 rectangle.

(a) Given that the area of the rectangle is thrice the area of the small sqhare, find the
area of the rectangle.

- (b)Fmd the péﬁrﬁetéi; of the shaded médium square. "

Ans: (@) _ _[1}
O .. 3]

:‘94:'!\4_91.&(;%220..13 . . ‘ 16 ~ 4
portc
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43

Figure 1. F’igure 2

Lily had a piece of square paper as shown in Figure 1.
She folded the paper as shown in Figure 2. £ BAC= £ EAF =11°.

(a) Find ZCAE.

by Find ZABF.

(b) [1]
| End-of-paper _
" Please.check your work carsfully. 4
'.»P‘;"-}Q'Alam'm'zzms‘ R s 17
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EXAM PAPER 2013
SCHOOL : AITONG
SUBJECT : PRIMARY 4 MATHEMATICS

TERM : CA2

Section A

0L [ Q2 [ 03] 041 Q5 Q6] 071 Q8 [ Qo 0Qi0]0i1]Qi2[ Qi3] Ql4

2l 4441214132412 |4 1132 (1.2

Section B

Q15. 20.386

'Q16. 19.1

" Q17. 5605

Q18. 29

Q19. 132

Q20. 66660

Q21. 116.35

Q22. 412

Q23. 3.050, 0.530, 0.503, 2/5
Q24. Y=3, Z=7 |
Q26. 26

Q27.6 .

Q29. 42

Q31. School

Q32. 32 cm

Q33. 252 cm®

Q34.3.92m

Page1of3 -
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Section C

Q35.

$0.50'x 3 = $1.50
$38.50 - $1.50 = $37.00

- Ans: $37.00

Q36.

Q37.

3/5x15=9
used: 9kg

left: 15-9=6
6-2/5=5 3/5

Ans: 5 3/5 kg
755 + 530 = 1285

3520 - 1285 = 2235
2235/3 = 745

. Ans: 745cm.

Q38.

Q39.

30.05 — 4.4 = 25.65
25.65 — 9.65 = 16.00
16.00 /4 = 4.00 -

Ans: 4.00 cm

John + David > 150.4kg

Roy + David - 138.6kg -

John + David + Roy > 216.4kg
216.4 - 150.4 = 66.0

Roy .= 66.0 kg

138.6 - 66.0 = 72.6

David - 72.6kg

216.4-138.6 = 77.8

John > 77.8kg

Ans: (a) 72.6kg
(b) 77.8kg

Page 2 of 3
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Q4O 541 - 55 = 486
| 486 /3 = 162
486 + 162 = 648
648 — 541 =107

- Ans: 107

Q41. 105 + 95 = 200
200 > 4/5
200/ 4 =50
200 + 50 = 250

Ans: 250

Q42.a)36x 3 =108
b) 6 x 3= 18
6+8=14
4+4+4+4=16

Ans: a) 108 ¢m*
_byi6ecm.

Q43. a) 90-22=68
68-22=46

Ans; a) 46°
b) 90°

Page 3:0f 3 -
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NAN HUA PRIMARY SCHOOL
GONTINUAL ASSESSMENT 2 — 2013
PRIMARY 4

MATHEMATICS

Tetal Time : 1 hour 45 minutes

INSTRUCTIONS TO CANDIDATES

1. Write your name and index number in the space provided.
2. Do not turn over the page until you are told to do so.

-+ 3. Foltow allinstructions carefully.. . .- ° SRR
4. Answer all questions and show your workings clearly.

Marks C)'bt'a'_ine't.l : |
.Ser.:tlon M'ax'i‘m\um Marks | Actual Marks 1‘
A L a0 o
B | 40
¢ | 2 |
Total | 100
Name: ' , . o _( }
_(‘.la‘ssé_ Pa | __ .
Date : 28 August 2013 o Parenf’s;signétl.:re;' :
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' SECTION A {20 x 2 marks)

" Questions 1 to 20 carry 2 marks each.

Of the four options given, only one is correct. Choose the correct answer
(1, 2, 3 or 4} and write its number in the brackets provided.

1. Whatis the value of the digit ‘5’ in 48.057

(1)
(2)
(3)
(4)

2. Which of the following is equivalent to 5

(1)
(2)
(3)

(4)

._.‘,-D.] .

o] =
+

5
0.5
0.05

0.005

"

-h{—-\

o1

W]
+ .

LY
SN Nl""

W)=

3. Find the product of 6 and 0.09 2

(1)
(2)
(3)
(4)

54
5.4

0:54

- 0.054

¢ )
¢ )
¢
porto

’ Powered by: www.schoc;lpbrto. com
System developed by -- lule -- 0752697211, info@schoolporto.com -

Need a home tutor? Visit smiletutor_‘sg_wiii




4.

o

6.

Multiply 370 by 25.
(1) 2 590
(2) 7 585
(3) 9250
(4) 9275

0.32 expressed as a fraction in its simplest form is

(1)

(2)

()

(4)

1
32

16
50

32

100

25

Ahmad is facing south-east. He turns anti-clockwige through 135° and then
makes a quarter turn.clockwise. Which direction will he face?

(1)

(2)

(3)
4)

N
NW NE
W
SW - SE
5
East
- South
North-east
South-west

School
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In which one of the following figures is 0.2 shaded ?

(1)

(2)

(3)

(4)

How many eighths are there in 8 :1— ?

(1)

(2)
(3}
(4)

32
33

65

66

School
portc
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9.

10.

11.

Which of the following is -corre.ct ?

(1) 407 = 47 hundredths
(2} 407 = 7 hundredths

{3) 4.7 = 47 tenths

(4) 47 = 7{enths

55i is the same as

100

(1) 0.53
'{2)"“53'¥x1~

(3) 5.03

(4) 5003

Donaid has 1 268 marbles He has 560 marb}es more than Eric.
How many marbles do they: have altogether?

(1) . 309
'(2) 1976
(3) 1828
(4) 708

School
portc
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12. Mrs Goh baked a pizza and both her children ate % of it each.

13.

14.

Her neighbour ate :1{ of it. What fraction of the pizza was eaten ?

(1)

(2)
(3)

(4)

“
12

Freddy spent -;— o, the day ﬂylng klte at the park He then played goif for | _

% of the day. He spent the rest of the day at home. How many hours dld

Freddy spent outdoors? (Note: There are 24 h in a day.)

(1)
(2)
(3)
(4)

15
9
6

4

For every $100 spent by the public at a mall, $5 will be donated to charity.
How much would the public have spent if $4 500 was donated to charity?

(1)

(2)

(3)
(4)

$450 000

$427 500

$90.000

$22 500

School
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15. Square P and Rectangle Q have the same perimeter.

6.

What is the length of Rectangle Q 7
(The figures are not drawn to scale.}

(1)
(2)

31

(4)

32 cm

28 cm

12 cm

4 cm

4 cm Q

How many pairs of perpendicuiar lines can you find in the following diagram?

()
(2)

(3)

(4)

S O

Powered by: www. schoolporto com
System deve/oped by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



17. Aticket for a child to the theme park is priced at $22.50. An adulf ticket costs :
- twice as much. How much does a family of 2 adults and 2 children need to pay

18.

19.

for the tickets?

(1) .7 $45.00

(2)  $67.50

(3) $90.00

(4) $135.00 ( )

Aftér bending a'pte'ce of Wire to form a square of side 6 cm, there is 24 cm of
wire left. If the remaining wire is used to form a rectangle where the breadth is
half of the length. What is the greatest possible length of the rectangle'?

(1)

(2)
(3)

(4)

48 cim
24 cm
8cm

4 cm , (‘j

The f igure below is made up of |dentxcal squares.
What is the perimeter of the i igure ? '

(1)
(2)

(3)
{4)

32 cm ' S "“E‘m

‘ Zch _

28 cm

16 cm

14 cm ' ‘ ' { )
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20. Mrs Tan uses 48.5 g of mashed pineapple to make 10 tarts.
How much mashed pineapple does she need to make 90 such tarts'?
", - Round off your answer to the nearest ten. -
(1) 440¢g
(2) 437 ¢
(3) 436.59

(4) 430 g | ¢ )

portc
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SECTIONB (20 x2marks) - . , -

Questions 21 to 40 carry 2 marks each. ) -
Write the correct answers for the following questions in the blanks provided.

Show your workings clearly and give your answers in the units provided.

Do not write -

21, Write 2 thogsgnds; 6 fens and 7-hundredths 'inpume‘.ra[s. _ in this space

Ans:

22,  Complete the number pattern below.

54, 108, 324, . 6480, 38 880

23.  Arrange these numbers in descending order.

6.91, 6.199, 6.991, : 6i
- : 10

Ans:

24, 76.34 when rounded off to 1 decimal place is

Ans: _

School
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25~ ABs a straight line. Using a ruler and a set'square, draw a straight line | Do not write

paraflel to AB passing through point P.

" 26 'Express 8% as an'improperfraction, "

27. Round off the difference between 11 422 and 6 688 to the riearest |

thousand.

TR

in this space

Ans:

School
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28.

29.

30..

. Measure the angle marked ‘w’ in the diagram.

Ans:

1 Do not write
in this space

Mary bought 1 red apple and 5 green apples for her family.
Her mother bought another 3 red apptes for the famlly

- What fraction of the apples are red? -

Ans:

‘Mr Jim’s family used 9 units of water Iast week.

If each unit of water cost $1.20, how | much did he have 1o pay?

Ans: $

11

portc
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31, Mrs Kumar paid $76.00 for 3-hours use of the karacke rdorﬁ ihcluding Po _n_ot wiite
some administrative charge. If it cost $24.50 to use the room for each | In this space
hour, how much was the administrative charge?

"Ans: $ : -
32, Find the perimeter of the diagram shown below.
(Figure is not drawn to scale.)

—dem

T taom
h 4

CGoeml|] . : _-',6'-c'm'-

7cm -
Ans - o em!

33. Lucas,_Mak and Ned shared $20-among themselves.
Lucas and Max each got $4 more than Ned.
-How much did Ned get -

 Ans S

12 o
porto
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34.

35.

36,

Melody bought 4 litres of apple juice. She filled up a jug with the juice

Do not write

‘and had 1.48 litres left. Find the amount of juice in the jug. in this space
Ans: {
Henry is 3 times as old as lrene.
How old is Henry if their total age is 36 years?
Ans: years old
A cupcake costs 85¢. For every purchase of 6 similar cupcakes, a
discount of 50¢ is given. How much does Mrs Ong have fo pay if she
buys 30 such cupcakes?
Ans: $
Do not write
in this space
13
portc
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37.  Quincy spent 0.3 of her monthly salary on food. ] .
She spent % of her monthily salary on paying bills.

How much did she spend altogether each month if her
monthly salary ;i§'$1 5007

Ans: $

38. Apiece of rod of 38.7m was cut into 2 shorter piecés,
* One piece was 12.5m long. Find the difference in length
between these two shorter pieces of rod.

Ans: - m
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39.

40.

Do not write
in this space
String A is twice as long as String B. String C is 3 m shorter than
String A. [f the total length of the 3 strings is 22 m, what is the Iength of
Stnng Cc? .
_An's: m
_ Tiffany bought 4 similar tins of paint and 3 similar brushes for $54
Umar paid $106 for 8 similar fins of paint and.5 similar brushes.
Find the cost of a'tin of such paint?
Ané: %
LB . ports
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Section C {5 X 4 marks)

Do the following sums carefully. All statements and workmgs must be
clearly shown. All units must also be stated clearly.

41, Atthe '‘Disney On Ice’ show, there were twice as many women as Do not write

: -men. The number of children was two times the totat number of men | in this space
‘and women: If the total humber of spectators was 5 400, find the - | )
number of children who were at the show?

42, Nathan had $59.80 in h|s savings. After purchasxng a shirt that cost
-7 $30.50, he was short of $17.40 to buy a-pair of trousers.
How much does the pair of frousers cost?

16 . -
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43.

44.

‘Do not write
A rectangular garden has an area of 184 m?. If the breadth is 8 m, in this space

what is the perimeter of the garden? .

35 children were divided into 7 equal groups. Each child got
16 stickers and each group received an extra 10 stickers.
How many stickers did they receive altegether ? '

17 ' R
. porc
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45.

Vincent mounted 2 similar-sized photographs with a space of 3cm | Do not write

all around each photograph onto a frame as shown in the diagram. in this space
Find the area of the frame not covered by the 2 photographs.
{The diagram is not drawn fo scale)
h A A
3ecm dem
v h 4
Jcm .
Jom | Zom S04 o4 em
. Y L 4
) 69 cm !
End of Paper

Remember to check your work carefully

8. | porto
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-

' EXAM PAPER 2013

SCHOOL :
LEVEL : PRIMARY 4
SUBJECT: MATHEMATICS
TERM CA2

NAHUAPRIMARY SCHOOL

Booklet A

Torl2laQ3 ]

Q10

Q11 012]013]Qi4[ Q15

312|313 4] 1] 3

Q16

017] 018 Q19

L4 3 [2 [ 2"

21. 2060.07-
22.1296
23.6.991 6.91 6§ 6.199

24.76.3

25.

26. 42/5

27. 5000
28.136

29. 419
30.10.80
31.2.50

32.50

33.4

34.2.52
3527

36. 23.00 -
37.800
28.13.7

39.7

40.12

41. 5400/9= 600

600X6=3600

- 42.59.80-30. .50=29. 30

%
post
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29.30+17.40=46.70
43.184/8=23 i
23X2=46
8X2=16
16+46=62
44. 35X16=560
7X10=70
560+70=630
45.3X3=9
69-9=60
3+3=6
24-6=18
30X18=540
540X2=1080
69X24=1656
1656-1080=576

5 | B oo
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ROSYTH

! .
“Ennv i sem‘:f'
Rosyth School'

Second Continual Assessment 2013

Mathematlcs
" Primary 4
45
Name:
Class: Prd-_____ Register No._ - Duration: th 30 min
‘Date: 27w Algust2043 © " ‘Parent’s Signature:
Instructions to Pupils
1. Do no"t.st‘art on the assessment until you are told to do so.
2. Follow all instructions carefully.
3. This paper consists of 3 parts of individual work: Tasks 2 3 and 4
Maximum | Marks Obtained
Task 2 - ' 15.
Task 3 - 15
Task 4 15
Total 45
porto
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Instructions to pupils for Tasks 2,-3 'é'l-nd 4

Please read the instructions givéh for each task carefully to complete all 3 given individual
tasks. ‘ '

Task 2 (2 pages):
1. You areto use the comﬁ[efed Task 1 tp answer the questi.ons in this Task 2.
2. Read the questions carefully and write your answers in the space provided.
3. Give your answers in the units stated.

4. Complete all questions given in Task 2.
Task 3 (6 pages):

1. Read the instructions given to complete this task.

2. For each Word Problem given in Task 3, identify the correct model to use to solve the
~problem and write your choice in the space prov:de ' '

3. Using the mode! that you have identified, solve the Word Problem with the appropriate
number statements and working. Show all your workings clearly.

4, Compléte all questions given in Task 3.
Task 4 (3 pages including grid paper):
1. Read the instructions given to complete this task.
2. Shade your answers on the grid paper neatly and clearly using a pencil.

3. Complete the task by completing the table given.

End of Alternative Assessment

Please check your workl

School
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ROSYTH SCHOOL
Primary 4 Mathematics 2013

Alternative Assessment.

Name: B ¢y '
' Marks:
Class : Primary 4-
Date 1. . ST .-_:'Pa_re;nt’s-gSig_natuifef:.”- ]
Task 2a : Decimals {Individual Work)
a) - Based on the information from the total fertlllty rate (TF R), i fn whlch year was the

TFR hrghest in Singapore?
(1 mark):

Answ_er :

b} What is the difference between the total fertility rate of Smgapore m 2007 and in
.o 2012 ? (Please show number statement and answer) . -

Number Statement | - o _ (1 rhark}
Answer: - . o (1 rark)
c) In the boxes provided below, arrange the TFR for Smgapore (based on each
year's collected data in Task 1a) in ascending order.
- (1 mark)
Lowest (TFR) o Highest (TFR)
porto

Powered by: wiww. schoolporto com
System deve/oped by --lule -- 0752697211 nto@schoo/gorto com -

Need a home tutor? Visit smiletutor.sg



Task 2b : Decimals (Individual work)

* & @ & »

You are plannmg fo order food for 3 guests from Australia who are in Singapore to have
a taste our local food for a friend’s farewell party.

The main dishes consist of nasi lemak and laksa (noodles).

The side dishes consist of fried chicken wing and otah.

The beverages consist of ice lemon tea and barley.

There must be a main dish, side dish and a beverage for each guest.

Each guest MUST NOT have the same exact combination of main and side dish
and beverage.

The total cost of the food must not be more than $25.00.

Use the menu item list given and work out the type and amount of food that you wil!
order in the space given below.

List out all your final orders and the total cost in-the table given below.

Guest Main Dish Side Dish -‘Bev'érage' Total Cost

GuestAT | o

(3 Marks) Nasi Lemak S_et 1

Guest B e ohi -

' rie icken

(3 Marks) | Wing
.Guest C e

(3 Marks) ' . | y

Total Cost | |
(2 Marks) |

Pt
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ROSYTH SCHOOL
Fnmary 4 Mathematics 2013

Aliemative Assesament
MNama : - [ 1 :
Marks
Clese : Primary 4-
Date . - SR Farent’s Signatura ;
Task 3: Math Analysis '
Dbjective

To provide opportunily for pupiis to use their critical thinking skills fo identify the correct models
and use them 1o solve the given word problem. '

Whiat's Wrong?
Read the 3 word problems below carefully, Identify the comact modei and il in the blank with
the comect answer. You may use the comect model to help you o sohwe the word probilem,
Tou alsa haves ta rite cleary the number sentence and word statement. (5 marks sach)

) Word Problem |

Aushan had 13 more markdes than Beatrice, Ty : :
AiShan gave Bealrsce 30 marblea, AiShan now bas twiee a8 many marbles as
Beatrice. How many marbles dees Adshan have ot firsg?

A m—

Mads 1
AiShan I_ A S 150 [30 |
Baatrice { . .

Model 2 150

o AiShan | 3 30 |
© Beatrice | ) 30 |—

AiShan ' 150 0

The correct model is Model - {1 mmark)

Need 3 home tulor? Vist smiletutor.sg
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Stamp


My-solution : Please show all number staterhénts’ and working in the space provided below.
{4 marks)
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Word Problem 2

Charlene baked 20 cookies. Don baked 14 rﬁore cookKies than

Charlene. Raja baked twice as many cupcakes as Don. How many
cupcakes did they baked altogether’?

Model 1
20
B R —
Charlene 14
- <+——p
Don A E " . 2
Raja
Model 2
' 20
Don : 14 L 2
: : L < .
Raja :
Model 3
20
o Amem—
Charlene l 14
L A
Don | 5 14 9
- +——
Raja E 5
The correct model is Model _ _ (1 mark)

School
portc
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My solution : Please show all number statementé and working in the space provided below.

(4 marks)

portc
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Word Problem 3

The cost of a cake and 4 pizza is $79. The cake is $9 rr__}oré éXpensEve
than each pizza. How much does the cake cosf?

Model 1
Cake
Pizza ‘ > $79
Model 2
. lCakCJ
Pizza ' - L $70
Model 3
Cake
Pizza $79
The correct model is Model (1 mark)

School
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My soiution : Please show all number statements and working in the space provided below.
(4 marks)
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Rosyth School
anary 4 Alternative Assessment 2013

Mathematics
“Name © | ' ' ( )
Class : P4 -
Date : . . e 0 -7 Parents Sig_natu're;. L

Task 4: Individual Work
Time: 30 minutes
Objectives:

1) - Todraw and find the area and perimeter of different rectangles, given a fixed perimeter.

2) To find the length, breadth and area of different rectangles, given a fixed perimeter.

a)  The square grid given is 1 cm by 1 cm. Draw and shade 5 dlfferent rectangles each
with a perimeter of 48 cm Labe! these flgures A, B C,DandE.
' (10 marks)
b) “What are the possibie dreas, lengths and breadths of réctanglés with a perimeter of ~

-48 cm?

Comiplete the table below with your a_nsvyers. - (5 marks)

‘P'eri_meter | | Length ‘ Breadth . . Area
(cm) : {cm) (cm) (cm?)

48

48

48

48

48

School
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EXAM PAPER 2013

SCHOOL : ROSYTH
SUBJECT: PRIMARY 4 MATHEMATICS
TERM CA2
Task 2a
a) 2003 _ . _
“+'b) Number staterment: '1.07 ~0.78 = 0.29 -
Answer: 0.29 ,
o8 [ o7 |[ 108 |[100 |[ 11 || 111
Lowest. -Highest_
Task 2b v o | | y
Guest | Main Dish Side Dish | Beverage Total Cost.
Guest A | Nasi Lemak Set 1 | Fried Chicken Wing | Ice lemon tea | $7.50
$4.20 $1.50
| _ ' $1.80
Guest B | Laksa Fried Chicken Wing | Barley $7.60
$4.60 $1.50
| N $1.50 _
Guest C | Laksa Otah Barley $6.80
$4.60 $0.70 $1.50 -
- Total cost $21.90

Page 1 of .2

|
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Task 3
Word Problem 1
Answer: 2

- My solution

1 unit > 150 — 30 =30 = 90
2 units > 90 x 2 = 180 ,
No. of marbles at first = 180 + 30 = 210

Word Problem 2
Answer: 3

My solution
20x4 =80

14x3 =42
80 + 42 = 122
- - They.baked 122 cookies or cupcakes.. .. .

. Word Problem 3

Answer: 3.

My solution

9x4 =236

79 +36 = 115

115/5=23

Task 4 _ .

Length (cm) Breadth (cm) Area (cm?)
20 | 4 80
19 5 95
15 . _ 9 135
4 10 140
13 ) 11 143
~ Page 2 0f2,

portc
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MID-YEAR EXAMINATION 2013

MATHEMATICS
BOOKLET A
PRIMARY FOUR
Name: __ { ) Ciass: Primary 4
Date: 10 May 2013 Duration of Booklet A & B: 1h 45 min

INSTRUCTIONS TO CANDIDATES

This question paper consists of 7 printed pages.

Do not turn this page until you are told to do so.

Follow all instructions carefully.

Shade your answer on the Optical Answer Sheet (OAS) provided.

hanlia gl S o
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SECTION A - Multiple-Choice Questions {30 MARKS)

Questions 1 to 15 carry 2 marks each.

For each question, four oplions are given One of them is the correct answer.
Make yqur chaice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4} on the
Optical Answer Sheet (OAS).

1. 7 345 rounded off to the nearest hundred: is

&

(1) 7 000
(2) 7300
(3) 7350

(4) 7500

2. 59 hundreds, 34 tens and 17 ones is the same as

(1) 4 007
(2) 5951
(3) 6257

4) 9317

3. Which one of the following numbers is 15 tens more than 44 x 197
(1) 686
(2) 836
(3) 851

(4) 986

3

School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



Which of the following is a multiple of both 4 and 92

(1) 13
(2) 28
(3) 36

(4) 45

Mrs Fernandez is at Newton MRT Station. She notices that the
North-bound train arrives every 6 minutes and the South-bound frain
arfives every 8 minutes. If both trains arrived at 6.00 am, when would be

the next time both the trains arrive at the station together again?

(1) 6.12am
(2) 6.14am
(3) 6.16am.

@) 624am.

2
-5- of 5 has the same value as

2
1 _+5
{1) S
2
2y — x5
(2) ;
2
3 5-—
( 5
{4) zxgx—zﬂczxz
5 5 55

School
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1 5
Find thevalue of 9 — — — — .
4 12

1
g
(1) 3

1
2) 8—
) 2

1
3) 9-
3) 2

ol
@ 97

1
How many sixths are there in 85?

(1) 12
(2) 25
(3) 50

4) 75

5 .
There were 1672 people at a funfair g of them were children and the

rest were adults. How many moare children than adults were at the funfair?

(1) a18
(2) 627
(3) 1045

(4) 1254

portc
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10.  Flynnis facingthe canteen at the moment. If he turns 225° anti-clockwise,
he would-be facing the

general hibrary canteen
office._
classrooms ‘basketbail
court
MUSIC Toom football
bookshop field

(1) bookshop
{2) classrooms
(3) football field

(4) music room

11.  The figure below is not drawn to scale. In the figure below, AB'is
perpendicular to BC. Given that the size of Z X is Tive times the size of
£y, find the difference between £ xand £ v.

A
Iy
X

8 c
(1) 15°
@) 18°
(3) 60°
4) 75°

School
portc
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12.

13.

The length of a rectangle is twice its breadth. The perimeter of the
rectangle is 72 cm. What is the length of the rectanqle?

(1) 8cm
) 12cm
(3) 24°cm

(4) 36cm

The figure below is not drawn to scale. The figure is made up of identical
2-cm squares. What is the perimeter of the figure?

2em
.
i Zem

(1) 14cm
(2} 28cm
(3) 40cm
{4y 8Gcm

5

portc
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14.

15.

The figure below is made up of a rectangle and two squares. How many

right angles are there altogether?

14

12

E

K U

Which of the following figures contains both parallel lines and

perpendicular lines?

{1)
{2)
(3}
{4)

c X @ m

portc
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MID-YEAR EXAMINATION 2013
MATHEMATICS
BOOKLET B
PRIMARY FOUR

Name:

Date: 10 May 2013

Class: Primary 4 ____

Duration of Bookiet A & B: 1h 45 min

Parent's/Guardian's signature

INSTRUCTIONS TO CANDIDATES

3. Follow all instructions carefully.
4. Answer all questions.

1. This question paper consists of 16 printed pages.
2. Do not turn this page until you are told to do so.

A, .Multiple-Choice Questions 30
B. Short Answers 40
C. 'Prob!e_m Sums 30

Total Marks 100
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portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



SECTION B - Short Answers (40 Marks)

Questions 16 to 35 carry 2 marks each. Show all workings clearly.
Wirite your answer in the space provided. Give your answers. in the units stated and in
its simplest forrn whenever possible.

16.  Write eighty thousand and thirty-five in figures.

Answer :

17. Fillin the blank with the missing number in the number pattern below.

Answer ;

18. Two factors of 57 are 1 and 57 What are the other factors oif577

Answer : and

School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

2

Need a home tutor? Visit smiletutor.sg




19. A factory manufactured 3 924 badminton rackets and 836 of them were shipped
overseas. The remaining rackets were packed into boxes of 4 rackets each. Each

box of rackets were sold at-$12 How much did the factory collect from the sale of
the rackets?

Answer :§

2
20. What is the value of 5 + é?

Express your answer as a mixed number in its simplest form.

Answer ;

21. Arrange the following fractions from the smallest to the greatest.

Answer : . . _
(smallest) {grealest}

School
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22. 48 trees are planted along a straight road. The distance between every two trees
is 14 m. What is the distance between the first and last free?

Answer ; m

23. Which two of the fractions are smaller than —é—?

Answer : and

' 3
24, Jude’s monthly salary is $4 270 Every month, he spends gof his salary and

saves ihe rest. How much money will he save in half a year?

Answer:$

School
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25. Amanda has le_ss than 100 pencils. The pencils can be packed into bundles of 7 or
bundles of 8 with no pencils left over. How many pencils can Amanda have?

Answer :

26. Inthe figure, one of the angles is a right angle. Narme the angle.

Answer

27. How many pair(s) of parallel lines is/are there in the figure below?

Answer ;

School
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28. The figure below, not drawn to scale, is made up of Square X and Rectangle Y
The length of Square X is twice the breadth of Rectangle Y. Find the perimeter of
the figure.

18 m

Y ISm
X

A

L 4

Apnswer: __ m

29. The missing numbers in the boxes are of the same value. What is the missing
number?

9 6 |?
2.0 Lo

2] 10 25

Answer :

30, There are 48 apples in a basket. 28 of them are green and the rest are red.
What fraction of the appies is red? Express your answer in its simplest form.

Answe’

School
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31. Whatis the smallest odd number that can be divided bv 5 with a remainder 37

Answer :

32. Inthe figure, one of the lines is parallel to BD: Which fine is parallel to BD?

B

Answer :

33. The d_iagram below is made up of 3 straight lines AB, CD and EF crossing each
other Given that Ly is75°, find Zx.

E C
X
. y
P
D c
Answer
; port
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34 The figure below is made up of 5 identical squares. The perimeter of the figure.is
72 cm. What is the area of the figure?

Answer : cm?
35. Measure and write down the size of 2. x.
X
Answer : °
8’- Powered by: www.schoc;lbt;rto. com
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SECTION C - Problem Sums {30 Marks)

For each question from-36 to 43, show your working and mathematical statemerts
clearly in the space below each question. Write your answer in the answer space
provided. Give your answers in the units stated and in its simplest. form whenever
possible. Marks awarded are shown in the brackets [ 1.

36. Reeve, Simon and Tommy collected some toy cars. Reeve had five times as
many foy cars as Tommy. Simon had twice as many toy cars as Tommy. If Reeve
collected 3 108 more toy cars than Simon, how many toy cars did the 3 boys
coliect in ali?

Answer: [ 3]

School
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37. Derek and Mark had the same number of cards at first. After Derek had bought
another 495 cards and Mark lost 51 of his cards, Derek had four times as many
cards as Mark. How many cards did each of them have at first?

Answer: [ 3]
10 Powered by: www.schoc;lbt;rto. com
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38.

‘There are 732 pariicipants in Team A and 810 participants in Team B at a dance
competition. The number of males in both teams is the same Given that the

number of femzles in Team B is thrice that of Team A, find the total number of
male participants in the competition.

Answer._ [ 41}

portc
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2 : 1
3g. Ethan spent -5— of his pocket money on food, 5 of the remaining money on

transportation and saved the rest of it.
a) What fraction of his money did he save?

b) If he saved $130 how much money did Ethan have at first?

Answer: () [ 2]
o _ _12]
portc
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40. An equal number of boys and .girls sat for an examination in a hall. After an hour
3 3 L
latet, 2 of the boys and ; of the girls feft the hall. If 32 girls remained in the hall,

how many boys left the hall?

Answer: [ 4]

portc
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41 Kate and Ben went shopping. Kate spent g_ of her money and had $54 left.

Ben spent g of his money and had the same amount of money left as Kate

(a) How much money did Kate have at first?

(b) How much did Ben spend?

Answer: (a) [ 2]
(y_ 2]
14 parto
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42. The figure below, which is not drawn to scale, is made up of Rectangle A,
Rectangle B and Square C. Rectandle A and Rectangle B are identical. The
length of Rectangle B is twice the length of Square C. The area of Square C is half
the area of Rectangle B. Find the area of the figure.

Answer: _[4]

School
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43. Nr Avery had a rectangular garden with a perimeter of 256 m. The tength of the
garden is thrice its breadth. He decided to build a pebbled pathway with a width of
4 m around the garden. Find the area of the pebbled pathway

Answer: {41

End-of-Paper
16
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EXAM PAPER 2013

SCHOOL : ANGLE-CHINESE PRIMARY SCHOOL

LEVEL : PRIMARY 4

SUBJECT : MATHEMATICS

TERM SA1L

Booklet A

QL 1 Q2 | Q3 04| Q5| Q6 Q7 1 Q8 | Q9 [ Q10| Q11| 0Q12{ Q13 Q14 Q15
2 3 4 3 4 2 1 3 1 1 3 3 2 2 1

16. 80035

17.48

18.3 and 19

19.9264

20.1:

21.1/12, 5/8, %

22.658

23:.2/9 and 1/3

24.10248

25.63

26. a

27.3

28.60

29.15

30.5M12

31.13

32. AE

33.15

34.180

35.1006

36. 3108/3=1036
1036x8=8288

37.546/3=182
182+51=233

portc

Powered by: www.schoblporto. com

System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



38. 810-732=78
78/2=39
M:732-39=693
693x2=1386

39a). 1-3/56=2/5

0). 130/2=62

: 65x5=325

40. 8 x7=56
56/4=14
14x3=42

41. 54/2=27
54/3=18

a) 27x5=135
b) 18x4=72

42.84/3=28
28x2=56
56x28=1568
1568x2=3136
28x28= 784
3136+784=3920 cm square

43. 256/8=32
32x 3 =96
96+8=104
32+8=40
104x40=4160
96x32=3072
4160-3072=1088 meter square
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Al TONG SCHOOL

2013
SEMESTRAL ASSESSMENT 1

PRIMARY 4

MATHEMATICS
DURATION :1h 45 min
DATE : 15 May 2013

INSTRUCTIONS

Do not open the booklet until you are told to do so.
Foliow all instructions.

Answer all questions.

Name : { }
Class : Primary 4
Marks: -
Sectioh A 26 '
. Section B 40
Parent’s Signature:
' Section C
Date : 32
Total
98
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Section A
Questions 1

to 14 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make vour choice (1, 2, 3 or-4}).'Shade the oval (1, 2, 3 or 4) on the Optical Answer

Sheet with a 2B pencil. (28 marks)
1 in the number 18 240, what is the place value of the digit 1?
(1) tens
(2)  hundreds
{3) thousands
4) ten thousands
2 What is the sum of the first 4 multiples of 37
(1) 30
(2 24
3) 12
4 7
3 Which of the following is a common factor of 18 and 427
M o
2 8
(3) 6
4 4
P4 Math SA1 2013 4
porto
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4-  How many pairs of parallel lines are there in the figure below?

O
@ 2
@ 3
4 4

5 What is the sum of 10 hundreds, 4 tens and 2 ones?

(1) 10420
@) 10042
(3) 1042
4 142

6 Which of the following numbers is 5400 when rounded off to the nearest hundred?

() 5201
2) 5309
(3) 5363

4) 5450

7 When anumber is divided by 9, it has a quotient of 702 and a remainder of 5.
What is the number?

(1) 73
) 83
(3) 6313
@ 6323
P4 Math SA1 2013 2
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8 Mary used % kg of flour to bake a cake and 1% kg of flour to bake some cookies.
How much flour did she use altogether?
9
1 —k
(H 1019
2 1-1— ki
(2} i5 kg
3 13 kg
3
7
4 15 ke
. 3
9 What is the 7 x 157
5
M =
@ 2
3
@) 65
4 15

2 . .
10-  Mrs Lim had $99. She spent -;— of it on a blouse and 5 of it on a skirt. How much

did she spend altogether?

0
{2)
3
(4)

P4 Math SA1 2013

$55
$22
$33

$44
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gk There were 32 girls and 10 boys in a class. —; of the girls and % of the boys took
part in a compstition. How many pupils in this class did not take part in the

competition?
(1) 24
2 22
@) 20
4 18

12 A 8-cm square picture is pasted on a blank rectangular cardboard measuring 22 cm
by 10 cm. Find the area that is not covered by the picture.

{1} 284 cm?

8cm

e e a—

(2) 220cem? 10 em

Picture
(3) 156 cm?*

5 2 - >

(4) 4 cm 72 o

13 A piece of wire is bent to construct idenfical square as shown in the figure below.
What is the length of wire used?

I3cm

(1) 15cm
(2) 36om
{(3) 48cm
4y &0cm
P4 Math SA1 2013 4
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14  Anipad and 2 printers cost $1440. The ipad cost thrice as much as the printer. Find

the cost of the ipad.

Y
(2)
)
(@)

P4 Math SA1 2013

$288
$360
$576
5864

portc
Powered by: www.scholbt;rto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg




Sectioh B

Questions 15 to 34 carry 2 marks each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. {40 marks)

15 Write twenty thousand, one hundred and three in numerals.

16 12 %123 = 14 %123 —

17  What is the smallest 2-digil number that can be divisible by both 4 and 57

Ans:

18  What is the product of 34 and 12?

Ans:

3

P4 Math SA1 2013 8
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. .
19  Find the missing value in 32 =1+ 1+ =

Ans:
20  Arrange the fractions in descending order.
noo47 18
4 " 28" 8
Ans:

21 Mrs Lim had a ribbon measuring 882 em. She cut it into 9 equal pieces. She gave a
piace each to her 8 friends. She used 35 cm of the last piece to tie a parcel. What

was the length of ribbon lefi?

Ans: cm

P4 Math SA1 2013 Powered by: www.schoc;lbbrto.com
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22 Some children were playing in the school field. -2 of them were girls. There were 14

boys. How many girls-were there?

Ans:

23 Name the correct angle that is 75°.

Ans: £

24 Sharon is 8 years old now. Her father is 6 times her age. What was their fotal age
last year?

Ans: years old

25 A mini-van can hold 7 passengers. How many mini-vans will Mr Lee need to
transpert ali 145 tourists to the hotel?

Ans:

P4 Math SA1 2013 8
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26  Mr Tan has a number lock for his office, The number lock uses only 3 digits : 4, 6, 8.
To unlock the office, the first digit must be bigger than the second digit. How many
possible combination{s) can Mr Tan use to unlock his office?

Ans:

27 The figure below is'not drawn to scale. ZWXYZ is a rectangle. ZQYZ is 24°. ZQYP
is twice of ZPYX. Find the value of ZPYX

W P X
Q

24°
pa Y

Ans: °

28  inthe space below, draw a line ST which is perpendicular to AB.

L s

I

P4 Malh SA1 2013 g
6

School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg... ... ._.__




28  Alimade a 270° fum in a clockwise direction before ending up facing the Bus
Interchange. Where was he facing at first?

School

i Library

Police Post

MRT Station |
N Bus
Interchange
Shopping
Mall
Communify Park
Centre

Ans:

30  The figure is not drawn fo scale. 1t is made up of two squares, What is the perimeter
of the figure?

5cm' 3com

Ans; cm

31 . Awaliin a room measures 4 m by 3 m. The cost of painting 1 m?is $35. How much
will it cost to paint four such walis?

Ans: $

P4 Math SA1 2013
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6
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32 The area of the rectangle as shown below is 112 cm?. Ifits breadth is 7 cm, find its

perimeter.

7 cm

33 A rectangular cardboard measure 22 cm by 16 cm. Ali cut out 4-cm squares from this
cardboard for his project. What is the maximum number of squares he can obtain?

Ans:

34  The figure below is made up of 4 identical squares. The perimeter of this figure is
48 cm. Find the area of the shaded part.

Ans? cm®

P4 Math SA1 2013 11 6
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Section C

Questions 35 to 38 carry 3 marks each. Questions 39 to 43 carry 4 marks each. Show
your working clearly in the space provided below each question and write. your
answers in the spaces provided. (32 marks)

35 Lily and Huixin had the same salary. After Lily spent $840 and Huixin spent $49,
Huixin had 8 times as much money as Uily had left. How much money did Huixin
have left?

Ans: [3]

36 Zhi Hao has 45 stickers and Aaron has 75 stickers. How many stickers must Zhi Hao
give to Aaron so that Aaron has three times as many stickers as Zhi Hao?

Ans; ‘ [31]

P4 Malh SA1 2013 12

’ School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



37  Aconcrete path of width3 m cuts across a rectangular park. The remaining area is to
be planted with grass. Find the area covered by grass.

Concrete path

Grass

Grass

A

Y

20m

Ans: [3]

38 The figure below is made up of 7-identical rectangles. The length of each rectangle is
10 cm..Find the perimeter of the figure. '

1t em

Ans: {31

P4 Math SA1 2013

13
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39 A pen and anotebook cost $11. 3 pens and a notebook cost $19. What is the cost of
4 pens and 3 notebooks?

Ans : [4]

3
40 Siti has 336 beads. "y of the beads are red and the rest are green and blue, The

number of green beads is twice the number of blue beads.
(a) How many blue beads does Siti have?

1
(b) If she gives away 5 of her red beads, how many beads has she left?

Ans: 4]

P4 MiEth SA1 2013 14
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41 The figure below is made up of a square and a rectangle. The perimeter of the
square is 28 cm. The perimeter of the figure is 52 cm.
(a) Find the length of ED.
{b) Find the area of the figure.

A B C
F E D
Ans: (a) [2]
(b) (2]

42  The figure below is made up of rectangles. BC = 21 cm, CD =6 cm, EF = 3 cm and
GH = 8 cm. Find the area of this figure.

A { H
)
19cm
| F
]
G ¢3rcmD
£
Iecm
) 21 cm
Ans - [4]
P4 Math SAt 2013 -15 8
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43  Jiale had $120 more than Grace. When Jiale gave $24 to Grace, Jiale had twice as
much money as Grace. How much money did Jiale have at first?

Ans; [4]

End-of-paper 4

Please check your work carefully,

P4 Math SA1 2013 16
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EXAM PAPER 2013
SCHOOL : AITONG
SUBJECT : PRIMARY 4 MATHEMATICS

TERM : SA1

A [Q2 103 1 04]05]Q6][ Q7108 Q9 [Q10]Q1l]012] 013/ q14
4 1 3 3 3 3 4 4 3 1 2

Q15 i fevi
20103 Vord

Q16
246

Q17
20

Q18
408

Q19
;

Q20
11/4, 13/8, 7/8, Y

Q21
63

Q22

28
ports

Powered by: www.schoc;lpbrto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



Q23
FBC

Q24
54

Q25
21

Q26

Q27
22

Q28

Q29
Park

Q30
26

Q31
1,680

Q32
46

Q33
20

Q34

36cm?

poris 2
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Section A: Multiple-Choice Questions (40 marks)

Questions 1 to 20 carry 2 marks each. For each questien, four options are glven
One of them is the correct answer. Make your -choice (1, 2, 3 or 4).

Shade the oval(1, 2, 3 or 4) on the Optical Answer Sheet (OAS).

SHADE the oval completely. All diagrams are not drawn to scale.

1. Inwhich of the following numbers, is the digit 4 in the hundreds pléce?
(1) 27564
(2) 54109
(3y 63422
(4) 89343 ( )

2. 37 thousands and 59 tens is the same as

() 3759

(2) 37059

(3) 37509 |
{(4) 37590 , ( )

3. Inwhich of the following are the numbers arranged from the smallest to the
greatest?
" (smallest) (greatest)
(1) 2680 , 2068 , 2608

(2) 2680 , -2608 , 2088
(3) 2068 , 2680 , 2608

(4) 2068 , 2608 , 2680 ( )
4 32.0
9 18

Find the missing humerator.

( 15

@ 29

(3) 58 .

4) 98 ¢ )

School
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5. Find the value of %—1
4
1 —
(N :
3
2 3
@ 5
7
(3) 52
23
a = ( )
(4) >4
6. Which of the following numbers when rounded off to the nearest hundred
becomes 43007
(1) 4229
(2) 4292
(3) 4359
(4) 4392 ( )
7. Inthe figure below,l how many angtes are more than 90°7
(1 3
(2) 6
3) 7
4y 4 ( )
portc
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8. A number gives a quotient of 94 and a remainder of 3 when it is divided by 6.
Which of the following is this number?

(1)

112
(2) 288
{3) 567
(4) 582 ( )
8. How many quarters are there in 21 turns?
(1) 16
@ 10
3 3
4 5 ( )

10. The figure below is made up of 16 identical triangles. How many more triangles

must be shaded so that

(1)
(2)
)
“4)

10
12

%of the figure is shaded?

1. A T-shirt costs $18. A pair of shorts casts $5 more than a T-shirt. A pair of
shoes.costs twice as much as the total cost of a T-shirtand a palr of shorts.
How much does a pair of shoes cost?

(1)
2)
(3}

@)

$36
$41
$62
$82

Powered by: www.schoc;lporto. com
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12. Ada'm had 75 st_ickers. He lost 40 stickers and sold some of them. The number

of stickers he had left was %of what he had at first. How maay stickers did he

sell?

(1)
(@)
()
(4)

15
20
35
60

13. Jim has some blue marbles, red marbles and yellow marbles. He has 64 more
blue marbles than red marbles.and 13 less blue marbles than yellow marbles.
He has 35 tyellow marbles. How many red marbles does he have?

() 274

(2) 290

(3) 338

(4) 415 ( )

14. Whatis —}tum more than 135°7?

(Hy 180°

(2) 225°

3y 270°

4 315° ( )

15. 2 televisions and 1 printer cost $1754. Each television cost $184 more thana

- printer. How much does the printer cost?

0
(2)
(3)
4

$462

$690

$787
$877
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16. : .
basketball

hawker court school
cenfre .
park Mark shopping centre
MRT station library
‘cinema

Mark is facing the hawker centre. After he turns 270° antl-ciocszse where will
he face?

(1)  school

(2) MRT station

(3) Dbasketball court

(4) shopping centre ( )

; 4
17. Mike ran §km on Monday. He ran g-km more on Tuesday than on Monday.

What was the total distance he ran on the 2 days?

5

(1) 1km

@ 1%@

3) 2%km

(4) 22km « )

School
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18. The figure below is made up of straight lines.

.c A

Which line is parallel to XY?

(1Y EF
(2) CD
(3) AB
(4y GH ( )

. 1
19. Joshua had 72 stamps. He gave. -;— of the stamps to a friend and —of the

stamps to his brother. How many stamps did he have left?

(1 12

(2) 16

3) 24 |

@ 36 )

portc
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Study the graph carefully and answer question 20.

The bar graph below shows the number of durians sold at a fruit shop from Monday

to Friday.

Number of

durians sold

Tuesday Woednesday Thursday Friday

20.  Whatis the total number of durians sold in the 5 days?

(1)
2)
(3)
(4)

285
295
305

315

School
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Section B: Short Answer Questions (40 marks)

Question 21 to 40 camies 2 marks each. Write your answer in the blank provided.

21. List the common factors of 32 and 56.

{ Donot
write in
this space.

Ans:
92. -Form the largest —ﬁossible odd number with all the digits.
Each digit can only be used once.
31/9{18||0
Ans:
' 23. Find the value in the blank.
48 x 32 = (48 x30) +.
Ans:

24. Arrange the following fractions in descending order.

11

1
15’1

i
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.25, Find the value of 3-‘;1—1 %

Do not
‘write in
this space.
Ans:
26. AO, BO and CO are straight lines meeting at point O. Find /x.
A
50° J40°
C 8
X B
Ans: °
.1
27.- A bottle contains §€ of water. it contains %t less water than a pail. How much
water does the pail contain? .
(Express your answer as fraction in the simplest form.)
Ans: f
Y
portc
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Do not

. . n . . ] write in
28. Line AB is a straight Ime_. Find Zc. . | this space,

Ans: °
29. ABCDis a square. Find Zy.
A B
29°
Y
D C
Ans: _°

30. A shopkeeper bought 420-boxes of chocolates. There vﬁere 15 chocolates in
each box. He repacked afl the chocolates into packets of 9 chocolates each.

How many packets of chocolates were there?

Ans:

10
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Do not

31. The figure HILMNJK is made up of a'square LMNJ and a rectangle HIJK. :’;’:_ite in
Find the unknown length HK. - is space.
H
A J i l_ I
? L M
1
I -
l e e—
i
|
h 4 —I . 1 [_
K J ¢ ! > N
16 cm

Ans: ‘ . cm

32. Thomas baked some buns. He gave % of the buns away and sold the

remaining 84 buns. How many buns did he have at first?

Ans:

3 ,
33. Sam has Zas manykrasers as Tom. They have a total of 130 erasers.

How many more erasers does Tom have than Sam?

Ans:
Powered by: www‘.schoc;'pbrto. com
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34. A tennis racket cost twice as much as a soccer ball. A jersey cost thrice as

Do not
much as a tennis racket. The total cost for the 3 items was $342.. { write in this
What was the cost of the soccer ball? | space
Ans:$
35. There are 105 children at a class party. %of the number of girls is equal to 1
2
~of the number of boys. How many boys are there af the party?
Ans:
- 36. Rickand ‘Mary'hqd an equal humber or sfickers at ﬁr'stu.After Rick gave away
155 stickers and Mary lost 15 stickers, Mary had.6 times as many stickers as
Rick. How many stickers did Rick have in the end?
Ans:
12 . Powered by: www.schoc;lpqrto.com
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Study the graph carefully and -an_sweir questions 37 and 38. .
" The graph shows the number of bicycles sold from January to June.

110

100 I\ — ‘
J \

90 {— v
80 “}_\*—_/Q \

: 70 i - : j
b o e s
50 | . \ / ' \\
40 | v \
ol b N

20 f——f—i
1 : : :

10 — :

0 - : : A ; H
January February March  April May June

Month
37. What is the greatest decrease in sale of bicycles from one month to the next?

Ans;

38. Express the least number of bicycles sold as a fraction of the most number of
bicycles sold. Express the answer in the simplest form.

Do not
write in thi
‘space

Ans:
‘ Powered by: v schoalpbrto.com
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 39. Fabian had thrice as much money as Tim at first. After Fabian spent $167 and | Do not
- Tim spent $25, both of them had an equgl amount of money left. K?;ig‘ace_
~ How much did. Tim have at first?
Ans: $
40. Barry and Carl had an equal number of marbles at first. After Barry gave 52
1
marbles to Carl, Barry-had T as many marbles as Carl. How many marbles
did Barry have in the end?
Ans:
portc
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~ Section C; Long Answer Questions {20 marks}

Question 41 to 45 carries 4 marks each. Write your answer in the blank provided.
Show your workings clearly. -

a1, Addison, Bryén and Calvin share some cards. Addison and Bryan have 4059 | 3&2?;
cards. Addison and Calvin have 3135 cards. Bryan has 4 times as many cards | s space.
as Calvin. Calvin packs his cards into bundtes of 7 cards each.

How many bundies does he have?

Ans: . 4]

15
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42. There are some apples and oranges in a.box. The number-of oranges is 2 the ﬁt“c.’i
. ' T 5 ] e m
' : ' this space.
number of the apples. There are 156 more apples than oranges. % of the fiuits
in the box are rotien. How many fruits are not rotten?
Ans: 4]
16
portc
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43. Dan, Evé and Frank shared the coét of & present. Dah paid $34 more than Eve | Do not

-and Frank paid $53 less than Dan. The total cost of the present was $207. ‘t.:\?;ig;ce
" How much did Eve pay for the presents ' o
Ans: _ 4
17
portc
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44. Jeremy was given some money to buy some notebooks. If he were to buy 18 2&:‘?1
notebooks, he would be short of $4. If he were to buy13 notebooks, he would | this space. -

have $11 left. How much money was he givén to buy notebooks?

Ansi___ (41}

18 -

School
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45, The patterns below are made up of identical shaded and unshaded squares. Do not
, . - . write in
this space.
Pattern 1 Pattern 2 Pattemn 3
a) How many shaded squares are there in Pattern 42
b) How many unshaded squares are there in Pattern 47
c) Find the total number of squares in Pattern 10.
JAns: a) , i1}
) EE— )} ]
. {2
- ENDOF PAPER.
‘Have you checked your work?-
19
porto
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EXAM PAPER 2013

SCHOOL : CATHOLIC HIGH
SUBJECT: PRIMARY 4 MATHEMATICS
TERM : sa1

Q1 1 Q2 | Q304 ] Q5 6
2 : : X Q3 Q2 Ql7 Q38 %9 Q:;:lO Qj.l Q212 Q13| Q14 { Q15 | Q16 [ Q17

{E Q19 Q20
3 14 1

Q21) 1,24,8
Q22) 9803
Q23) 9%
Q24) 3/5 1/3 3/11
Q25) 2 11/35
Q26) 170
Q27) 31/36
Q28) 79
Q29) 16
Q30) 700

- Q31)32
Q32) 140
Q33) 52
Q34) 38
035) 42
Q36) 28
Q37) 65
Q38) 2/7
Q39) 71
Q40) 26

Page 1 of 2
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Q41) 3u = 4059 — 3135 = 924
| 1u = 924/3 =308
308/7 = 44 :

Q42) 3u = 156
1u = 156/3 =32
7u =52 X 7 = 364
364/4 = 91
91 x 3 =273
364 - 273 = 91

Q43)53-34=19
19 + 53 =72
207 - 72 =135
135/3 = 45
45 + 19 = 64

Q@44) 5 notebooks = 11 + 4 = 15
1 notebook = 15/5 = 3
13 notebooks = 3x 13 = 39
39+ 11 =50

Q45a) 4
b) 6
c) pattern 10: shaded = 10
unshaded =1+2+3+4+54+6+7+8+9
=45
45 + 10 = 55

Page 2 0f 2 -
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Name: . , (

Class : Primary 4

CHUJ ST NICHOLAS GIRLS’ SCHOOL (PRIMARY)

Primary 4 Mathematics

2013 Semestral Assess ment One

Booklet A

13 May 2013

TOTAL TIME FOR BOOKLETS AAND B: 1 HOUR 45 MINUTES

Do not open the booklet until you are told to do so.
Follow all instructions carefully.
Answer all questions.

This booklet consists of 9 printed pages ind‘u’ding the cover page.

School
portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



SECT[ON A: (20 x 2 marks)

For each question, four options are given. One of them is the correct answer.
Shade the coirect oval (1, 2, 3 or 4) on the Optical Answer Sheet. Please use only 2B
pencil and SHADE the oval completely.

1. 65 hundreds more than 15 003 is

1) 15068 2) 15 653

3) 21503 4) 80 003

2. The value of the digit 2 in the difference between 85 300 and 24 090 is

1) 20 2) 200

3) 2000 4) 20 000

3. 3840 is 15 tens less than

1) 3ﬁ9.9§o 2) 3855

3) 3825 4) 3690

School
portc
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4. How many pairs of parallel fines are there in the figure below?

1) 1 2)2

3) 3 4y 4

‘5. Which one of the following is the first common multiple of 2 and 67

DX L 2)2

36 412

portc
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The figure below shows the different places in Rainbow City.
Use the figure to answer questions 6 and 7.

. MRT Station
Shopping School

=]

Park — X | Market
//
Playground : y
ygrotn Ferry Terminal

Library

6. MrThomas is standing at point X, facing the playground. He makes a%— turn to

his leff. He will face the

1) Ferry Terminal 2) School

3) Shopping Mall- 4) MRT Station

7. Mr Thomas faces the library after making a 135° clockwise turn. Where was Mr
Thomas facing before he made the turn? : -

1) Shopping Mall : 2) MRT Station

3) Market 4) School

School
portc
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8. There are 306 bags of cookies. Each bag contains 59 cookies. How many cookies
. are there altogether?

1) 4 284 2)4 424

3) 18 054 4) 18 644

9, Find the value of-3% of 24.

1) 10 2) 12

3) 14 4) 16

1G. Amber bought 4536 balloons. She: bought four times as many balloons as Bobby.
How many balloons must Amber give to Bobby so that they have an equal number

~ of balloons?
1) 3402 2)2835
3) 1701 4) 1134

N School
portc
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11. What is the missing number in the box?

1= - =

3
12 4
1) 1 2)5

3) 9 4) 27

12. Joanne, Kelly and Wenny bought some cookies. Joanne bought L kg of cookies.
3

5 .
Kelly bought < kg of cookies and Wenny bought 1 kg of cookies. How much cookies
did Joanne, Kelly and Wenny buy altogether?

1 2
1) 2= k )y 1=
) 69 2)13kg

1 1
3) 1=k Ll
)3 g 4)46kg

; L 3
13.There are 48 pupils in a class. —8- of them are boys. How many giris are there in the

class?
16 3 216

3)18 4) 30

School
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14. In a school, there are 7 350 chairs when rounded off to the nearest ten.
What is the smaliest possible number of chairs in the school?

1) 7344 2) 7345

3} 7351 4) 7354

15/ Xiao Jing had $5 350. Kai En had $3 710 more than Xiao Jing. How much money
did they have altogether? Round off your answer to the nearest hundred dollars.

1) $12800 ©2) $14 400

3) $14 410 4) $15 500

16. Using the digits 1, 0 and 4, what is the maximum number of ways to form 3-digit

numbers?
1) 6 . 25
3) 3 ‘ 4) 4

School
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The graph shows the number of people who visited Putau Ubin over four months. Use
the graph to answer Question 17.

180
160
140
120
100 A
80
60
40
20
o

January February Mérch April

17. There were 40 more adults than children who visited Pulau Ubin. How many children

18.

visited Pulau Ubin over the four months?

1) 350 | 2) 270

3) 175 4) 135

Sam‘ sold 8 tortoises and 5 hamsters. He sold 7 fewer hamsters than birds. What
fraction of the total number of animals sold were hamsters? '

1 1
1y = 2y
) 3 2y
5 5
3) = 2
' 12 | 3

School
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19 Mrs Lim’s age is thrice of Hannah's age. Mr Tan ts 3 years older than Mrs le If their
- {otal age is 66 years old, how old is Mrs: le‘? . :

1) 21 ) 2) 23

3) 27 4) 30

20. The table below shows the number of tins of canned food donated by pupils in
Primary 4A.

Number of tins of canned 0 : 1 ; _
food donated : : 2 3 4

Number of pupils 4 13 10 7 5

How many tins of canned food did the pupils donate altogether?

1) 10 2) 39
3) 74 , 4)78
End of Booklet A
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Name : _ )

Class : Primary 4

CHIJ ST NICHOLAS GIRLS’ SCHOOL (PRIMARY)

Primary 4 Mathematics

2013 Semesftral Assessment One

Booklet B

13 May 2013

| Section A : {40
SectionB&C: {60
| | Total Marks: - 1100
Parent’s / Guardian’s Signature : :

TOTAL TIME FOR BOOKLETS A AND B: 1 HOUR 45 MINUTES

‘This booklet consists of 14 printed pages including the cover page.
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SECTION B: (20 x 2 marks)

: Do not
Nrite your answers in the blanks provided. Show all number statements and write in this
vorkings cleary. space.

21. Write fourteen thousand and ninety-five in numerals.

Ans:

72_\What is the sum of all the factors of 1567

Ans:

23. Using the digits given, form the smallest 5-digit even number.

o514 |1]]|7

Ans:.

Powered by: www.s hoqupb_rto.com :
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24. Inthe product of 759 and 24, the digit 8 fs in the . place. Do not
. write in this
space.

Ans:

25. Study the number pattern below.

4,16, 36, 64, | ? 1,144, 196
What is the missing number in the box?
Ans: portc
Powered by: www.sd hoo bbrta. com
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26. Round off each number to the nearest ten. _ Do not
_ ] ' write in this
Then estimate the value of space.
1563 + 697
Ans:
27. The distance between Daniel's home and his office is 30 km. He drove 27 km
before his car broke down. Then he walked -17—1 km. How far was Daniel away
from his office? Express your answer in the simplest form.
Ans: . km -
28. Mr Hong wants to buy a total of 6 381 pins. The pins are sold in packets of 6.
What is the minimum number of packets of pins that Mr Hong needs to buy?
Ans: _ _ | poric
PoWered by: wwm) sch )c;lpbrto. com
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Do not

29. Measure ZXYZ with a protractor. . _ write in this
‘space.

Ans : XYZ °

30. In the box below, draw a line perpendicular to the line AB through the
point C.

bolporto.com
bolporto.com
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The line graph shows the different types of cupcakes soldAby Aunt May on
Monday. Study the graph and answer questions 31 and 32.

300

250

// |
ser of '

akes 200 / ' N\
sld 150 ‘ N\

100 N\

50

0

" Chocalate Hazelnut Butter Almond

31. Aunt May sold %of the tofal number of cupcakes fo Company A. The rest of

the cupcakes were bought by Company B. How many cupcakes did
Company B buy?

Ans:

) Q Akl of 93"“0
32. Aunt May sold-the-same-rumberof-cupcakes on Tuesday and Wednesday.

How many cupcakes were sold in ali from Monday to Wednesday?

Ans:

Do not
write in this
space,

portc
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33}.' Point A is north-east of Point

C' D?
Ad B
e
P

34, Vincent bought some red and blue pens. He bought 5 times as many red
pens as biue pens. He bought 3380 more red pens than blue pens. How

pens did he buy inall ?

Do not
write in this
space.
N
Ans: Point
Ans:
portc
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| Donaot
4%, L ofthe people who aftendad a sports camival wers chidren. The: rest were wrkz in this
£

: SPAcE.
adults. 1f there were 200 adulls, how mary people attended the sparts

carnbval sttogether?

36, Jiang Hamn ks thinking of a Z-digil number that is greater than 20. The number
is also a common muliple of 2 and 7. What is e smallest possible number

that Jiang Han s thinking of?

po: r
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Stamp


Do not
. write in this
is > the number of apples in Bag B. There are 150 more apples in Bag C space.

37. There are 1572 apples in Bag A and Bag B. The number of apples in Bag A

than in Bag A. How rnany apples are there in Bag C?

Ans:

38. Miss Koh bought 16 bags of marbles. Each bag contained 37 marbles.
She distributed all the marbles equally among 8 children. How many marbles
did each child receive?

School
Ans: .
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39. When a number is divided by 6, the remainder is 1. When the same number Do not

is divided by 5, it gives a remainder of 2. If the number is less than 40, what write in this
t space.

is thesgreatest!possible number?

Ans:

4Q. The figure below is made up identical triangles. How many more triangles

must be shaded such that % of the figure is shaded?

Ans:

-
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SECTION C: (20 marks) ' ' Do not
Solve the following problems. write in this
~ Ali mathematical workings and statements must be shown clearly.. Space.

A1. Billy's weekly pocket money is $28. Every week, he spends -} of it on drinks

and $15 on food. He sdves the rest of his pocket money. How much does he
save in a month? ( Take 1 month = 4 weeks)

Ans: (3m)

42. Nr Lim bought some durians and apples. He spent a total of $200 .on the
fruits. If he spenl the same amount of money on each type of fruit, how many
apples did he buy? ‘

Ans: . (3m)

. 11 . . Powered by: www.schog;lp‘brtq. com
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43. There were four times as many boys as gils at a parly. After 105 boys left the Do not

party, there were twice as many girls as boys left: How many children were :gite in this
_ : ace.

are altogether at first?

Ans: {(3m)

. 1 . .
44, Seok Min used EOf a roll of ribbon to tie a present. Then she used another

1 . . .
7 of the ribbon to tie a box. She was left with 440 cm of ribbon. What was the
length of the roll of ribbon?

Ansi (3m)

12 0 Powered by: www.schoc;lpbrto.com
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45. A basket containing 10 identical books has a mass of 4335 g. The same Do not )
basket containing 4 identical books has a mass of 2235 g- What is the mass wate in this
of the empty basket? _. “lSPace-

Ans: _ - ' {4m)
portc
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. : . R 3 . - ' _ Do not
46. Michael ran a distance of 48. m. Sylvia ran e of the distance that Michael ran. write in this
Chloe ran 6 km more than Sy!wa Find the fotal distance that Mlchae! Syivia space.
and Chioe ran?
Ans: . . (4m)
End of Paper
porto
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EXAM PAPER 2013
SCHOOL : CHIJ ST NICHOLAS GIRLS’ SCHOOL (PRIMARY)
SUBJECT: PRIMARY 4 MATHS

TERM : SA1l

QL Q2] Q3104 [G5]Q6| Q7 | Q3109 QlO‘Qll Q12 _Q13 Q14 | Q15 Q16- Q17
3 |2 1 4 3 3 4 3 4 3 3 1 . . ,

Q18] Q1920
1 ]3] 3

Section B

Q21) 14095

Q22) 24
QQ23)10574

Q24) Thousands
Q25) 100

Q26) 2260

Q27) 3km

Q28) 1064 packets
Q29) 124°

Q30)

Page 1 of 3
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Q31) 200 cupcakes
Q32) 3046 cupcakes

Q33) E

Q34) 5070 pens
" Q35) 240 people

Q36) 28
Q37) 674

Q38) 74 marbles

Q39) 37

Q40) 6 triangles

Section C

Q41) 4/4 > 28
1/4>28+4=7
28—7 =21
21-15=6
6x4=2%24
He saves $24 in.a month

Q42)

No of
durians

Amount paid

No of apples

Amount paid | Total Check

5x3 =15

20x5 =
$100

7 x15=175

4x25=
$100

$200 v

He bought 175 apples

Q43) 7u > 105
lu>105+7=15
10u--> 150 '
There were 150 children at first

Q44) 1/5 + 1/4 = 9/20
20/20 —9/20 = 11/20
11/20 - 440 _
1/20 > 440 =~ 11 = 40
20/20 - 40 x 20 =800
The length of the ribbon was 800cm.

Page 2 of 3
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Q45) 6B > 4335 — 2235 = 2100
1B - 2100 + 6 = 350
4B > 350 x 4 = 1400
1 Basket - 2235 — 1400 = 835
The mass of the empty basket is 835kg.

Q46) M > 48m
S > 48 x 34 = 36m
C = 36m + 5km = 5km 36m
Total > 5km 36m + 36m + 48m = 5km 120m

They ran a total distance of 5km.

Page 3 6f3
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HENRY PARK PRIMARY SCHOOL
2013 SEMESTRAL EXAMINATION |

MATHEMATICS 100
PRIMARY 4
Name: { ) | Parent’s Signature

Class: Pr4

1
Duration of Paper: 1 h 45 min

Section A : { 15 X2 marks = 30 marks )
Read each question carefully. For each question, there are 4 options given.
Choose the correct answer and write the number in the brackets provided.

1. In the number 15 320, which digit is in the tens place?

()1
(2) 2
(3)3
(4) 5 « )

2. What is the value of 2970 x 87

(1) 16 260

(2) 16 760°

(3) 23560

(4) 23 760 ' ()

Page 1
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How many fifths are there in 3% ?

(M7

(2) 10
(3) 15
(4) 17

The departure time for a Singapore Ailines flight to Tdkyo is shown
as 19 50 on the display board. How should this time be displayed in the
12-hour clock?

(1) 7.50 a.m.
2)9.50 a.m.
(3) 7.50 p.m.
(4} 9.50 p.m,

A bus left Singapore at 7.35 pm and amived at Kuala Lumpur
5 hours and 20 minutes later. What time did it arrive at Kuala Lumpur?

(1) 2.15 a.m.
(2) 12.55 am. -
(3) 12.55 p.m.
(4)2.15 p.m.

. Page2
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Which one of the following letters has at least a pair of perpendicular lines?

M A
@ F
3 N
@ X

Bala jogged around a rectangular field once.

The length of the field measured 350 m.
Bala jogged 1000 m in total.
What was the breadth of the field?

(1) 150
(2) 300 m
(3) 325 m
(4) 650 m

In which of the following are the numbers arranged from the smallest to the

greatest?

(1) 7094, 7904, 7409
(2)'7904, 7094, 7409 .
(3).7409, 7904, 7094
(4) 7094, 7409, 7904

Page 3
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At a chess tournament, 178 chess sets were used.
Each chess set contained 32 chess pieces.
How many chess pieces were used in the tournament?

(1) 210
(2) 890
(3) 4094
(4) 5696

What is the value of -§—+% ?

1)+

1
@ 3

5
@35

,
@ 5

- Page 4
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11.  In the figure shown below, how -many of the marked angles are
greater than a right angle?

ON
(2) 2
(3)3
(4) 4

12. The figure below is drawn to scale.
How many pairs of parallel lines are there in the figure?

(1)1
(2)2 .
)3
4)4

Page 5
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13.  The figure below is made up of 3 identical squares.
The area of the fi gure is 108 cm?. Find the penmeter of the figure.

(1) 36 cm
(2)42 cm
(3) 48 cm
(4)54 cm. ( )

14.  MrLim sold 6850 seaweed rolls in 2 days. He sold 450 more seaweed
rolls on the first day than on the second day. How many seaweed rolls
did he sell on the first day?

(1) 3200

(2) 3425

(3) 3650

(4) 4100 ()

Page 6 -
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156.

Ahmad bought 3 £ of orange juice. He drank 2 cups of orange juice.

How much orange juice had Ahmad left?

5
(1)55

2
(2)-3-5

5
@23 ¢

7
(4) 25 £

Each cup contéinéd % £ of orange juice.

Page7
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Name: { )

Class: Pr 4 . 70

Section B : { 20 x 2 marks = 40 marks ) .
Read the questions carefully and write the correct answer in the blanks provided.
Show all workings clearly.

16.  Write fourteen thousand and eighty in figures.

Answer :

17. Express % as a mixed number in its simplest form.

Answer :

18. How many seconds are there in 2 min 3 seconds?

Answer :

Page 8
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19, 150 participants took partina Swimming Carnival. There weretwice as many
male participants as femaleparticipants. 45 male participants did not win any
- medals. How many male participants won medaL_é_?

Answer :

20. -Minnie made a necklace using 21 blue beads and 14 red beads.
What fraction of the beads on the necklace are red?

Answer -

21. Given the line AB, draw and mark ZCAB = 120°

c

Page 9
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22. In the figure below, use arrow heads to show a pair of parallel lines.

23. In the figure below, name the line which is both parallel to EF and

perpendicular to AF,
A
E 3 B
1
]
I
I
i
D C
Answer :
Page 10
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Answer

25. A square has-an area of 81 mP, Find the perimeter of the square.

26.

Answer : m

- There are about 17 500 spebies.of butterflies known in the world as of the

year 2012. What is the greatest possible number of species of butterflies
given that 17 500 is rounded off to the nearest hundred?.

Answer :

Page 11
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27. Henry wanted to pay for a pair of shoes that costs more than $31 but less
than $46. He found that he could pay for the pair of shoes exactly with only
$2 notes. He could also pay the pair of shoes exactly with only $5 notes.

What is the cost of the pair of shoes?

Answer : $

28. 3 and 6 are common factors of 36 and H. His a 1-digit number,
What is the number H?

Answer

29. Gillian made 2543 cupcakes. She packed all the cupcakes into boxes of 6

with série left over. How many cupcakes were leit over?

Answer ;

Page 12
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30. The table below shows the schedule for the Singapore — Johor Bahru bus

service.
Leaves Singapore Arrives in Jehor Bahru
9255 _ 1335
1330 14 10
1405 14 45
1440 1520
1515 15 55
e : ; BN
Bus stop in Johor Bahru Cousin’s
Singapore bus station house

Anthony visited his cousin in Johor Bahru. He took a bus from Singapore to
Johor Bahru bus station. It took him another 50 minutes to travel from -the
Johor Bahru bus station to his cousin’s house. He arrived at his cousin's
house at 16 15. Based on the schedule above, what was the latest time the
bus Anthony was on left Singapore? State the time using 24-hour clock.

Answer :

31. The time shown on the clock is 20 minutes slowér thari the actual time.
What is the actual time? State the time using 12-hour clock.

Afternoon

Answer: - pam.

Page 13
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32. Brenda is standing at the point marked X. She is facing the Library.

Where would she face when she makes a %- tum anti-clockwise?

Supemarket

Library =, XL MRT Station

Community Club

Answer:

33. The figure below shows a rectangle. Find 2 k.

Answer :

Page 14
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34. A cardboard of 30 cm by 24.cm was mounted with a picture, leaving a border

of 2 cm around the picture. Find the area of the border.

24 cm

A
v

A
¥2 cm

30 cm

Answer : cm

35. There were a total of 5630 tables and chairs to be moved from Henry Park
Primary School’s Mt Sinai site to the Holland Grove site. There were 30 more

chairs than tables. How many tabies were there?

“Answer ;

Page 15 -
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Section C : {30 marks }

Read the following problem sums carefully. You may draw models to help you.
Show all workings clearly in the spaces provided.

36. A school bought 1025 cartons of drinks for a school event.

Each carton contained 3 boftles of drinks. 689 cartons of drinks were
distributed. How many bottles of drinks were left?

Working

Answer : 31

"37.  Muthu and Ahmad had a total of 1224 cards at first. After Muthu bought
another 36 cards, Ahmad had 3 times as many cards as Muthu.
How many cards did Muthu at first?

Answer : [3]

Page 16
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38.

Fatimah bought !%— kg of rice and some flour. She bought % kg less flour than rice.

{a) How much flour did Fatimah buy?
{b) How much rice and flour did Fatimah buy altogether?

Express your answer in its simplest form.

Working

Answer: (a) - 12

(b). - [2]

_Page 17
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39.  There are 38 chicken nuggets in Tray A and 18 chicken nuggets in Tray B.
How many chicken nuggets must be moved from Tray A to Tray B so that
- Tray B will have 6 more chicken nuggets than Tray A?

Working
Answer ; 4]
Page 18
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40.  Jun Xiong had 147 marbles. He gave % of the marbles to his brother and

49 marbles to his best friend. How many marbles had he left?

Page 19
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41. The figure below is made up of 6 identical rectangles.

The perimeter of the figure is 28 cm. Find the area of the figure.

Working

Answer : 4]
Page20 .
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42,

There were some books in the class library. % of the library books were

Malay books. The number of English books was thrice the number of the
Malay books. The remaining 14 books were Chinese books.

How many books were there in the class library?

Working

Answer M

Page 21
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43. Mina had $1879 and Deni had $2134. After each of them spent the same
amount of money, Deni had 4 times as much money as Mina.
How much did-Deni spend?

W_orking
Answer : \ [4]
-END OF PAPER-
Selters:
Ms Eunice Chua
Mrs ChiaSeow Wei
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SCHOOL @ HENEY PARK

SUBIECT : PRIMARY 4 MATHEMATICS
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Q23) DC
Q24) 65
Q25) 36
Q26) 17 549
Q27) 40
Q28) 6

Q29) 5

Q30) 14 40
Q31) 3.05
Q32) Supermarket
Q33) 20
Q34) 200
Q@35) 2800

Q36) Number of bottles of drinks in 1025 cartons -> 1025 x 3 = 3075
Number of bottles of drinks distributed -> 689 x 3 = 2067
Answer -> 3075 - 2067 = 1008

Q37) 4u -> 1224 + 36 = 1260
1u -> 1260/4 = 315
Muthu -> 315 - 36 = 279

Q38a)11/4-1/3=11/12
Q38b) 11/12 +11/4=21/6

Q39) 38 + 18 = 56
56 - 6 = 50
50/2 =25
38 - 25 =13

Q40) 1/7 ->147/7 = 21
No. of marbles -> 21 + 49 = 70
Answer -> 147 - 70 = 77

Q41) 28/14 =2
3x2=6
4x2=8
6x8=48

Page 2 of 3
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Q42) 3 x2/9 = 6/9
1-6/9-2/9=1/9
lu=14
u-> 14 x9 =126

Q43) $2134 - $1879 = $255
$255/3 = $85
$1879 - $85 = $1794
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Follow all instructions carefully.
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Section A: (40 marks)

For each of the following question, four options are given.

One of them is the correct answer.

Make your choice (1, 2, 3, 4). Shade the oval (1, 2, 3, 4) on the Optical
Answer Sheet.

1. What is the value of the digit 8 in 58 9467

(1)
(2)
(3)
(4)

8x 10
8 x 100

80 x 10

80 x 100

2. What is the difference between 89 402 and 9687 Round off your answer
to the nearest ten.

(1) 88400
{2) 88420
{3) 88430
(4) 88440
3. The numbers below are arranged in descending order.

What are the missing rimbers?

31459, 30439,

(1
(2)
(3)
(4)

28 419,
28 399,
29 419,

29 399,

, 27 379, 26359

27 389

27 379

28 399

28 379

(GO on toPBDQeQ%pﬁg = ‘Ipbrto.com
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4.

5.

6.

Which one of the following numbers is the second common multiple of 4

and 67

{1y 12
2 20
(3) 24
(4) 48

Which one of the following are common factors of 18 and 247

(1)
2
(3)
(4)

1,2,3and 4

1,2,Sand6

1,2, 4and 6

1, 3,.4-and 5

Which one of the following numbers is closest to 4 800 on a number

line?
} ! ! ; : } i | I ! ]
4700 4 800 4 900
(1) 4798
(2) 4789
(3) 4849
4y 4810

(GO on to thePeressed glaglg)/.schoolporto.com
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4

The chairs in a hall are arranged in rows. There are 24 rows.
Each row has 75 chairs. How many chairs are there in the hall?

(1)
2)
(3)
(4)

288
450
1 600

1 800

* + K+ Sk K =32X5

What number does <% represent?

(1

(2)
(3)
(4)

93
465
1488

1 860

Which of the following shows —f% of the set is shaded?

(1

@

3)

)

e e K vt T

ANNANA

(Go on to the next page)
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Use the table below to answer questions 18, 11 and 42.
The table shows the number of appies picked by 5 children.

10.

11.

12.

Number of apples
Name picked
Ai Ling 50
Girls Betty 45
Siti 60
Gopal 66
Boys
Ming 100

% of the apples picked by Ming were red. How many red apples did he

pick? -

(1)
@)
(3)
(4)

20
25
40

50

How many apples must Ming give to Gopal so that both of them have
the same number of apples?

(1
2)
3
(4)

17
34
36

46

How many more apples must the girls pick in order to have twice as
many apples as the boys?

(1)
()
)
(4)

155
166
177

382

School
I otes B Tests.
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13.

14.

15.

Express 4% as an improper fraction.

Mm L

o 3

®
w

Which one of the following is arranged from the greatest to the

smallest?
(1) -3-
@ 2
@) 2,

What is the missing number in the box?

53
(1 8
@ 6
@) 3
4 15

2

+

|

(Go on to the next pag:
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16.

17.

A pizza was cut into 9 pieces. Tim ate g- of the pizza. Alex ate 1 piece

more than Tim and 2 pieces fewer than Kent.
Bill ate the rest of the pieces. What fraction of the pizza did Bill eat?

(1)

(2)

()

(4)

0| -

WIiN

|

S
9

Whatis £ ABC in the figure below?

2)

(4)

75°
85°
105°

115°

=]
P V.. hodlporto. com
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18.

in the figure below, which two lines are perpendicular to each other?

(1)
(2)
Q
(4)

C

)

i
T

GH L AB
XY 1 AB.
XY L GH

CD L EF

(Go on to the next pa
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19.

20.

Lock at the figure below. Jane is standing at a point marked X in the
figure below. She will face A after she turns 135° anti-clockwise.
Where was Jane facing before making the turn?

(1)
(2)
(3)
4)

1

Ee
X g
é‘o
Ceo D'

m o O W

The figure below is made up of a rectangle and a square. ABis 5 cm
and BC is twice as long as AB. What is the perimeter of the figure?

(1
(2)
(3)
(4)

30 cm
40 cm
45 cm

75 cm

A B

B |
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Section B: (40 marks)
Write your answers in the space provided.
For questions which require units, give your answers in the units stated.

Use the information below to answer questions 21 and 22.
The graph shows the monthly rainfall from January to June in 2012.

20

18

N
\

e
N

Rainfall {cm)
[y
o
/

_____ N

~

L S N~ B

January February March April May hune
Month

21.  What was the decrease in rainfall between February and March?

Ans: cm

22, Inwhich 1-month period was there an increase of 5 cm in the monthly
© rainfall?

Ans: From to

23.  On the number line below,
(a)  mark the value 245 with a X’
(b)  circle the answer when 245 is rounded off to the nearest hundred.

| t 1 { [ | 1 { 1 I
—1 I 1 | 1 ) I ¥ | |

200 300
(Go on tefhemext.Pag8borto.com
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24.

25.

26.

11

What is the quotient when 5 033 is divided by 87

Ans:

Use all the digits 2, 4, 5, 8 and 9, to form the smallest five-digit even
number with digit 4 in the hundreds place.

ANS:

I have fewer than 30 marbles. | can put them egually into bags of
2, 4, or 7 without any remainder. How many marbles do | have?

Ans:

(Go on to the next pa
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Use the information below to answer questions 27 and 28.

The tabie shows the number of Prima

Blackmore Primary Schoot.

ry 4 children in the various CCA groups in

Number of boys | Number of girls Total
Basketball 35 18 53
Swimming ? 17 40
Library Club 15 20 35
Pottery Club 22 30 52
Total ?

27.  How many bays joined swimming?

Ans:

28.  There were 200 children in Primary 4.
How many children did not join any CCA groups?

Ans:

29.  What is the missing number in the box?

2§+1 s
6 3 6

Ans:

School
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30. Whatis the value of X on the number line below?
Give your answer as an improper fraction in its simplest form.

Ans:

31. There are 4 red roses, 6 yellow roses and 8 white roses in a vase. What
fraction of the roses is white? Give your answer in its simplest form.

Ans:

32.  Mary spent % of her money on a boolk and had $15 left.

How much did she have at first?

Ans: $

(Go on to the next pag
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33. There were 1600 people at a Science fair. 600 of them were adults and
the rest were children. If % of the children were girls, how many boys

were there?

Ans: )
34. (a) Name a line that is parallef to CD.
(b) Name a line that is perpendicular to EF.
F
G E
A
/ D
B C
Ans: (&) /!
(b) L

School
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35.

36.

15

The figure beiow shows a line AB and a point C.
Draw a line perpendicular to AB passing through point C. Mark the

angle.

O

In the figure shown below, ABCD is a square.

£ CAE = 26°, Find £ DAE.

A

26°

Ans: °

(Go on to the next page
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37.  The figure below is made up of 3 identical rectangles and a square.
What is the perimeter of the shaded part?

4(13m
]

Ans: ctm

38.  The figure below shows a line WX. Draw £ XWZ = 145°,
Mark and [abel the angle.

T

(Go on tothsnext.pagebiporto.com
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Use the figure to answer gquestions 39 and 40.

. Park [ Library Playground

F 3

Food | « | MRT station » Angela’s
Court house

Y N

Sports . School
Complex Shopping I
centre

39(a). The Sports Complex is of the MRT station.
(b) The is east of the Library.
Ans:{a)
{b)

40. Angela is standing at the MRT station facing her house. She makes a

% - turn in a clockwise direction. Where would she be facing?

Ans:

School
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Section C: (20 marks}

Show your working clearly in the space provided for each question and
write your answers in the space provided.

The number-of marks available is shown in brackets [ ] at the end of
each question or part-question.

41.  Mrs Tan bought 3 £ of lemonade. Her daughter drank :} £ and her son
drank %E. After Mrs Tan drank some of the lemonade, there was ‘l%. {
feft.

(a) How much more lemonade did her son drink than her daughter?
(b) How much lemonade did Mrs Tan drink?

Ans: (@) M
{b) [3]
(Go on to the next pa
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42.

16

Three sisters counted their money in their piggy bank.
May had $947 more than Ling and Siew had $75 more than May.

if May had $1 455, what was the total amount of money the three sisters
had?

Ans: {4}

=53
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43.

20

Jenny bought a total of 20 pens and erasers.

The pen cost $3 each and the eraser cost $1 each.
Jenny paid the cashier $50 and received $6 as change.
How many pens did Jenny buy?

Ans:

(Go on to the next p
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44,

21

John had 640 Singapore stamps and 450 Malaysian stamps in his
collection.

He exchanged some of his Malaysian stamps for an equal number of
Singapore stamps.

He now has 4 times as many Singapore stamps as Malaysian stamps.

(@)  Whatis the total number of stamps John has?

(b)  How many more Singapore stamps were added to his collection?

Ans: (a) 1

(b) (3]

School
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45.

22

Lucy had a sum of money. She spent % of her money on stationery, .

% of her money on books and $45 on a blouse. She had $15 left after

spending on the items. How much money did she have at first?

Ans: (4]

END OF PAPER

(Go on to the next pag
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EXAM PAPER 2013

SCHOOL : MGS
SUBJECT : PRIMARY 4 MATHEMATICS
TERM SAl

QL1Q2 ) Q3] Q41Q5] 06| Q7]08[Q9][Q10]Ql1]Q12][013]Qi4]qls Q16| Q17
4 3 3 3 2 1 4 2 2 3 1 3 4 1 4 2 3
Qi8] 019 [ Q20
4 3 2
21)11cm 22)April to May 23)
24)629 25)25498 26)28 marbles 27)23 boys
28)20 children 29)19 30)11/3 31)4/9 32)$27
33)600 boys 34)a)CD//GF b)EF//FG 35)A /
36)19° - 37)32cm
38) Z
B
145°
a
w X
39)a)South-West
b)playground
page 1 to 2 page 1
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40)Library

41)a)'/a = 2/8
3/8—2/8=1/8
Mrs Tan son drank 1/8L for than her daughter.

b)3/8 + 2/8=5/8
8/8—-5/8=3/8
3/8+1=3/8+4/8=7/8

Mrs Tan drank 7/8L

42)$1455 — $974 = $508
$1455 + $75 = $1530
$1530 + $1455 = $2985
$2985 + $508 = $3493
The total amount of money the three sisters had is $3493.

43)$50 — $6 = $44
12 x $3 = $36
8x%$1=2%8
$36 4+ $8 = $44
Jenny bought 12 pens.

44)a)640 + 450 = 1090
John has 1090 stamps altogether.

b)1090--5= 218
450 — 218 = 232
There were 232 more Singapore stamps added to his collection.

45)Va = 2/8
$45 + $15 = $60
$60--3= $20
$20 x 8 = $160
Lucy had $160 at first.

Page 2
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NAN HUA PRIMARY SCHOOL.
SEMESTRAL ASSESSMENT 1-2013

PRIMARY 4

MATHEMATICS

INSTRUCTI_ON TO CANDIDATES

GPRONA

for Questions 1- 20.

Marks Obtained

Write your name and index number in the space provided.
Do not turn over the page until you are told to do so.
Follow all instructions carefuity.
Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided

Section Maximum Marks Actual Marks
A 40
B 40
c 20
Total 100
Name ;
Class : Pra

Date : 16 May 2013

Duration: 1 hour 45 min

Parent’s Signature :
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Section A (20 x 2 marks)

Questions 1 to 20 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval on the OAS. [40marks]

1. 9083 when rounded off to the nearest hundred is

(1) 9000
(2) 9080
(3) 9090
(4) 9100

2. Whatis the value of 105 X 13 ?

(1) 420
(2) 450
(3) 1365
(4) 1495

3. In which of the following number is the digit ‘3" in the thousands place?

(1) 42300
S (2) 37219

(3) 23567
(4) 15934

4.  The sum of all the factors of 12 is

(1) 6
(2) 15
(3) 27
(4) 28

School
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5.

20 thousands 40 ones is the same as

(1) 2004
(2) 2040
(3) 20040
(4) 20400

The product of 2 numbers is 784. If one of the numbers is 8, what is the

other number?

(1) 98
(2) 776
(3) 792
(4) 6272

Which of the following fraction has the greatest value?

(1)

(2)

(3)

'K;l"l Hlw N oo|w

How many quarters are there in 3 wholes?

(1) 9
(2) 12
(3) 15
(4) 4

portc
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8.  Which of the following fraction is nearestto 17

10.

11.

1
(1) =
3
(2) =
(3y 2
]
(4) 3
4

Mr Lim bought some red and green apples from the supermarket.
After giving away 4 red apples, Mr Lim had 10 apples left.
What fraction of the apples had he given away?

(1)

(2)

(3)

~ltn = alw oo

(4)

% of a number is 24. What is the number?

(1) g
(2) 64
(3) 72
{(4) 192

portc
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12,

13.

What is the difference between 2% and ‘—:;?
M 45
12
2 41
@ 1
@ .5
12
How many angles inside the figure are more than 90° ?

My 7
2) 6
3 5
4 4

portc
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14. Study the diagram below.

Find one pair of parallel lines.

(1) AB/HCD

(2} CDWEF
(3) ABIEF
(4) GHAW

A

15. Jerrell is standing at point A and facing west. Which direction

will he face if he turns 225° clockwise?

North-east

South-east
South-west
North-west

N

T

portc
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18. The area of a rectangle is twice the area of a square of side 4 cm.

What is the area of the rectangle?

(1)
(2)
(3)
(4)

8 cm?

16 cm®

32 cm?

64 cm?

19. The length of a rectangle is 10 cm. Its breadth is half of its length.

What is the parimeter of the rectangle?

30 cm
50 cm
60 cm
200.cm

20. The area of Square Ais 49 cm?. Square A and Rectangle B have the same
perimeter. If the iength of Rectangle B is 11 cm, what is its breadth?

1)

&)
(4)

7 cm
2cm
3cm

8 cm

11 em
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Section B {20x2 marks) '
Questions 21 to 40 carry 2 marks each. Write your answers in the spaces

provided. Show your workings clearly and write the answers in the units
provided. [40marks]

21. Form the greatest 5-digit odd number using all the digits below.
Use each digit only once.

Answer:
22. What is the sum of the 3™ and 7™" multiples of 37
Answer:
23. Write 12 811 in words.
Answer:
9 e
portc
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24. Find the product of 362 and 24.

Answer:

25. A DVD player costs 3 times as much as a radio. If the radio costs $60 less than
the DVD player, find the fotal cost of the two items.

Answer: $

26. The length of a rectangutar photo frame is 24 cm. If its breadth is % that of the

length, what is the area of the rectangular photo frame?

Answer: __ cm

10
portc

Powered by: www.schocﬂbérto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need_a_haome tutor? Visit smiletutor sg




27. Anita's monthly salary was $2 400. She spent % of her monthly salary on

transport and food and saved the rest. How much did Anita save each month?

Answer: %

28. Find the sum of-g— and 3

10°

Answer;

' 29.  Mary has 4 similar circles. Each circle is cut into 4 equal parts. How many more

parts must Mary shade if she wants 3% ctreles to be shaded?

Answer._ more

11 53
portc
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30. Arrange the following fractions from the smallest to the greatest.

Wl
o]
oy jon

Answer: R ' ,
smallest

31. At a book fair, % of the books were sold and 1 000 books were eft unsold.

How many books were there at first?

Answer: _ books

32.  Susan has 84 stickers. Her brother has 46 stickers. How many stickers must
Susan give her brother so that they have equal numbers of stickers?

Answer: stickers

12 =
portc
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33.  There were 10 famp posts placed at equal distance along one side of a straight
road. The total distance between the first lamp post and the last lamp post was
414 m. What was the distance batween the 2™ and the 7" lamp post?

Answer: m

34.  Mrs Lim had 154 stamps. If she gave 4 stamps to each pupil in her class, she
would need 14 more stamps. How many pupils were there in her class?

Answer: pupils

13
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35. In the diagram below, AB is a straight line. The figure is not drawn to scale.
What is the value of 2 a?

a 53°

Answer:

36. AB and BC are two sides of a rectangle. Complete the rectangle by drawing the
two straight lines in the square grid below.

School
portc
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37. ABCD is a rectangle. Thefigure is not drawn to scale.

Find the value of .~ BDA.

31°

Answer: o

38. The figure is made up of 2 identical small squares and another big square. If the
area of the big square is 16 cm?, what is the length of each of the small square?

?
A 3 —=

=

Answer:.______~ cm

15 =
portc
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Study Figure A below. The figure is made up of a square and a rectangle.
Answer questions 39 and 40. (The figure is not drawn to scale.)

8cm

3 cm

Figure A

39.  Find the total area of the figure if the area of the square is 36 cm?

Answer: ___ ©m

40,  Find the perimeter of the whole figure.

Answer: __c¢m

16
portc
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Section C (5 x 4 marks)

Do the following sums carefully. All statements, workings and units must be
clearly shown. [20marks]

41. 784 pupils took part in a parade. 432 of them were-boys.-If each girl carried 2 flags
and each boy carried 1 flag, how many flags-were there altogether ?

42. Jeremy bought some boxes of pencils at $4 each. They cost $580 in total.
Some of the boxes of pencils were damaged. He sold the good ones at $5 each
and collected $360. How many boxes of pencils were damaged?

17 -
portc
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43. Rayden had 20 more stamps than Woady at first. Woody gave 12 of his stamps to
Rayden. Rayden now has 3 times as many stamps as Woody. How many stamps
did Woody have at first?

44.  Hui Min had $120. She spent —2— of it on a pair of shoes and $40 on a bag.

How much money had she [eft?

portc
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45.  Lynda was given some coupons to sell to raise funds for needy pupils in school.
For every 3 coupons sold, she would be rewarded with 5 stickers.
How many coupons would she have to sell if she wanted to coliect 30 stickers?

Please check your work.

19 portc
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EXAM PAPER 2013

SCHOOL ;

LEVEL

SUBJECT :

TERM

NAHUA PRIMARY SCHOOL
PRIMARY 4
MATHEMATICS
SAl

Booklet A

01

Q2

Q3

Q8 | Q9 1Q10[Q11[Q12] Q13 Q14 Qi5] 016

4

3

3

Q17

018

Q19

4

3

1

21.
22.
23.
24.
25.

26.

74205

30

Twelve thousand, right hundred and eleven.
8688

120
192

27.800

28.1/10

29.7
30.1/2, 415, 5/6, 819

31.1600

-32.

33. Om

34.

35.37degree

36.

19

42

37.54
38.2

39.78
40. 46

41.784-432=352
352x2=704

i
?
oiJ

1 portc
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432x1=432
704+432=1136
42.580:4=145
360:5=72
145-72=73
43.44-2+12=22+12=34
44.120-5=24
24x3=72
72+40=112
120-112=8
45.30-5=6
6x3=18
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FIRST SEMESTRAL EXAMINATION
2013

PRIMARY 4
MATHEMATICS

DURATION: 1 HOUR 45 MINUTES

éectionA ! 30 _

SectionB | [ 40 Total: /100
Section C / 30

Name; ( )

Class: Primary4{ )

Date: 16 May 2013

Parent’s Signature:

Any query on marks awarded should be raised by 22 May 2013. We'seek your
understanding in this matter as any.delay in the confirmation of marks will lead to
delays in the generation of results '

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE-TOLD TO DO SO,
FOLLOW ALL INSTRUCTIONS CAREFULLY. -
ANSWER ALL QUESTIONS. - —
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Section A

Questions 1 to 15 carry 2 ‘marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4).
Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. (Total: 30 marks)

1. Which one of the foliowing numbers when rounded off to the nearest
- hundred is 45 6007

(1) 45512 (2) 45647
(3) 45542 (4) 45678

2. The height of an adult elephant is about

(1) 3000m {2) 300m
3y 3m (4) 30m
3. Which one of the following numbers is a factor of 367
(1) 108 2y 72
(3 8 4 4

4. Which one of the following pairs of numbers are common factors of 16

and 247
(1) 3and8 (2) 6ands

(B) 4andé - - 4 4and8

School
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Find the quotient when 6040 is divided by 7.

(1) 86 :' (2)

(3) 859 (4)

805

862

Which one of the following is a multiple of 48 + 87

(1) 12 @)

@) 3 4
How many sixths are there in 6%?

(1) 6 (2)
(3) 37 (4)

What is the sum of 3-2— and 1%?

(1) 4 @)

1
7

(8 5 (4)

1
7

16

19

38
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10.

11.

7 . _
Alex drinks — £ of milk a day. How many litres of milk will he drink

12

in 3 days?
21 5
{1) 3% (2) 5
3
(3) 1 S

Renee walked a distance of % km. Xiao Ling walked 4 times as far

as Renee. What was the total distance that the two children walked?

3 1
(1) 4 km @ 1 km
@ 1 km @ Ay
5 20

Alex is facing nbr?ﬁ'—éa’st. He makes a % - turn clockwise. Which

direction is he facing now?

(1)  North-west (2) South

(3) Southeast (4 West

School
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12..  The diagram below is riot drawn o scale. Given that DOE is a straight

line, which one of the following anglés is the bést estimation of £LAOE?

A
D o £
(1) 15° (2} 550
(3) 85 (4) 125°

13. ABCDisa rectangle not drawn fo scale. CE and DE are straight lines.
ZADE is 38°and ZBCE is 51°. Find the sum of £ EDC and ZECD.

A - E | | B
v 51°
b C
(1) 42 (2) 48°
{3y 89° 4) 9t°
portc
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14.

195.

A tqtai of 360 adults and (_:_l_'lildren bought tickets for a funfair. There
were thrice as many children as adults. The ticket for each aduit cost
- $9 and the ticket for each child cost $5. How much money was -
collected from the sale of children's tickets?
(1) $1350 (2) $2280
(3) $2160 (4) $2880
Study the number pattern below. What is the missing number in the
blank?

112 , 224 ? , 2688 , 13440
(1) 336 (2) 448
(3) 662 (4) 672
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Section B

Questions 16 to 35 carry 2 marks each. Show your working clearly in the
space below each question and write your answers in the spaces provided. .
Marks will be awarded for relevant number sentences. For questions- which
require units, give your answers in the units stated. {Total: 40 marks)

16.  In 48 703, the digit 7 stands for

Answer :

17. Write the number below in numerals.

3 ten thousands, 4 hundreds, 9 thousands, 5 ones

Answer :

18.  Arrange the following numbers in ascending order.

64 838 , 64 083 , 68403 , 64 388

Answer : , . .

19, Estimate the product of 95 and 34 by first rounding off each number to’

the nearest ten.

Answer ;

. School
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2. List all the factors of 32.

ArEvear

— TEEEN— A

21, Wnat tractian of 1he 98t Delow is not shadad?

& <>
S\

ot

<> <> < <>

Answear

22 The rembaer of Bowars that Mre Vanthi has is be=bwean 80 10 100, The
fiowirs can ba bundled o bouguets of 5 or O with no Nowers left over.
How rany fowers does she have?

HNesd 3 hpme hene? VIS smishutor s


Rum
Stamp


23.  Gigi bought Y kg o_f fruits. Mrs Zhang bought 1 kg more fruits

than Gigi. How many kilogrammes of fruits did Mrs Zhang buy?
Express your answer as a mixed number.

Answer : kg

24.  After Nurul had drunk % ¢ of orange juice, there was gl £ of orange

juice left. How much orange juice did she have at first?

Answer : ] £

25.  Sam had 18 strips of ribbon. Each fibbor was g m lohg.

How many metres of ribbon did Sam have in total?

Answer : . m-
portc
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26.

27.

A baker had some flour in her container. She used 2% kg of the flour fo

bake some cakes on Tuesday. She then poured in 4 kg of flour info

the container. There was'..4z.—:— kg of flour in the container in the end.

How rpuch flour did the baker have at first?

Answer : kg

ABCOD is a four-sided figure. Name and measure the marked angle.

D

Answer; /

School
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29.

28.

‘Mark and label the angle.

p

ST is a straight line.

Construct an angle using line PQ such that /PQR is equal to 125°.

- —Q

Draw and label a line PQ: through point R such that PQ // ST.

10

«R -

portc
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30.  The figure below shows a square DEW and a rectangle FGHI not drawn
to scale. Dt and Gl are straight lines. ZGIH = 63°. Find £DIG.

E G
D E
63°
J i H
Answer : °

School
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31.

32,

33.

Keng Seng needs to c__OiIect 419;seashells for an art project. He only

has 231 seashells now. He only has 4 weeks to collect the rest of the

seashells and he collects an equal number of seashells each week,
How rﬁény seashells must he collect each week?

{ Round off your answer to the nearest ten.) .' |

Answer :

Mr Zhang won '$6888 in a lucky draw. He wanted to give away all the
money fo his wife ahd his 4 children. The children received the same
amount each. If his wife received 3 times as much money as each
child, how much meney did his wife receive?

Answer: §

'Ai*a book_fair,% of the books sold were fantasy books and 1 of the

10

- books sold were science fiction books. The difference bet'wq_en the

number of fantasy books and science fiction books sold was 60. What
was the total number of books sold at the book fair?

Answer :

School
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34.  The diagram below shows a map of the different locations in a

town squarg.
Police North’
Station
Law
House
®
Park
L L
Fire
Station
Cinema
L
(a) The ‘ is to the east of the

(b) The govemment decides to build a fountain in the town
square. The location of the fountaln Is to be north of the
"cinema and south-west of the Law House. Put a cross (X)on

the map where the fountain will be built, °

School
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35. The diagram below shows;.the different paths Jack can take to go to the
hut from point A. Jack can only follow the direction of the arrows shown,
How many different paths can Jack take to go to the hut?

v
L 2

k 2
A 4

k4
A 4

h 4
k 4

Answer :

School
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Section C
Questions 36 to 37 carry 3 marks éach and questions 38 to 43 carry.4 marks

each. Do these word problems carefully. Show your working clearly in the
space provided below each question. Marks will be awarded to relevant

number sentences. (Total:-30 marks)

. 1 i . '
36. Yiwei spent 1 of his savings on a set of toys. He spent another % of his

savings on a T-shirt. What fraction of Yi Wei's savings was left?

Ans: (3]

37. PQRS is a square. PU and PR are straight iines and PR divides the
square into halves. ZUPS =60°. Find

() ZPRS
(i) ZUPR

 Ans: (i {1}
(i} [2]

15 | portc
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38.  Mr Tan had 1315 toy robots. He kept 50 of them and distributed the
rest equally among his 5 children. The chlidren sold each toy robot at
$11. How much money did each child collect‘?

Ans: , {4}

39. 5 pairs of shoes and 4 bags cost $354. 1 pair of shoes and 2 bags cost
$120. What is the cost of one bag?

Ans: [4].
portc
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40.

There were 50 more carrot cakes than yam cakes on sale in a cafe.

After selling three times as many carrot cakes as yam cakes, there

were 14 more yam cakes than carrot cakes left. How many carrot

41.

cakes did the cafe sell?

Ans: 41

David had 776 marbles. He gave % of his marbles to Peter. David also

1 ; :
gave i of his marbles to Jian Cheng. How many marbles did David

have in the end?

Ans: n ] [4]

School
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42.

Mother gave Ros!ina a storybook ‘for her birthday. She read 74 pages

on the first day. On the second day, Roslina read -5- of the total

number of pages. She still had 259 pages more to read before she
could finish the storybook. How many pages were there in the
storybook?

Ans: i

School
portc
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43.

At a school fun fair, every Primary 4 c!’éss_ needs to Set up a game stail along a
school corrldor. The game stalls are lined in a single row only on one side of
the corridor, Eéch class is given a table to set up their game stall. The length
of each table is 2 m long and there must be a gap of 3 m between 2 tabies.
The _!ength of the corridor is 55 m and there is gap of 4 m at both ends of the

corridor,

(a) How many stalls can the pupils set up along the length of the comridor?

(b} A dustbin is placed in between every 2 game stalls along the corridor. How
many dustbins are needed?

Ans: (o) SR 3]
(b) _ ]
END OF PAPER
ports
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EXAM PAPER 2013

SCHOOL : NANYANG PRIMARY SCHOOL

LEVEL  : PRIMARY 4
SUBJECT : MATHMETICS
TERM  : sA1

Booklet A _
’g1 Q2 ] Q3 [ Q4 [ 05 [ 06 Q7 | 08 | 09 [Q10]Q11]Qi2] 013 [ Q14015
23 alalali1 al37T3 12 al1a

16. 700
17.39405

18.64083, 64388, 64838, 68403

19. 3000
20.1,2,4,8,16 and 32
21.7112
22.90
23.8§
24.13
- 25.15
26.22
27. Angle AED
45 degree
28.
29,
30.72
31.50°
32.2952
- 33.200
34a).fire station ... park
b) '
35.6
36.1-1/4-5M12=4/12=1/3
37i) (180-90) =2=45

S Rt
T =]
f =
|~ -
Firp
Hallon
i e
. : -
I '
1
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if) 180-90-60=30
90-60=30
60-45=15
38.2783
39.354+120=474
474/6=79
120-79=41
40.50+14=64 :
64/2x3=96 , | b
a41.776/8=97
1-3/8-1/4=3/8
3Ix97=291
42. 1-2/5=3/5
(259+74) + 3=111
5x111=5565
43a) 55-4-4=47
24+3+2=7
47-7=6R5
55-4-4=47
47-2=45
45.5=9
9+1=10
b)a) 10
b). 9

School
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&®  RAFFLES GIRLS’ PRIMARY SCHOoL | Your

Score

SEMESTRAL ASSESSMENT 1 w00

2013  marks

s Parent’s
Name : ( ) Class: P4__ Signature

9" MAY 2013 MATHEMATICS Duration: 1 h 45 Pin

- SECTION A (25 marks)

Question 1 to § carry 1 mark each. Question 6 to 15 carry 2 marks
each. For each question, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade your answer
(1, 2,3 or 4) on the OAS provided.

1. In 82 9186, the digit 2 is in the place.

(1) ones

(2) tens

(3) hundreds
(4) thousands

2. Study the number iine below.
' A

R T
G | | | "

l

0 | ‘ 130
What is the number represented by A?
(1) 110
| (2) —11 2.
(3) 120
(4)y 122

Page 1of 21"
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Multiply 384 by 7.
(1):377

(2) 391

(3) 2 668

(4) 2688

Eliza has 25 boxes of paper clips. There are 69 paper clips in each

box.

How many paperclips does Eliza have altogether?

(1) 1380
(2) 1725
(3) 1750
(4) 2 070

Divide 5 101 by 8. What is the quotient?

(1) 75
(2) 85

(3) 750
(4) 850

10m 1 cm is the same as

(1) 101 cm
(2) 1001 cm
{3y 1010 cm
(4y 10001 cm

70080¢ is the same as’

(h7kg8g
(2)7kg80g
(3)70kg 8 g
(4) 70 kg 80 g

cm.

portc
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‘Which of the lines in the figure below is perpendicular to BD?

A - E ) D

(1) AB
(2) AD
(3) EC
(4) CD

. 3
Express II as a mixed number.
1
1) 3—
(1) 3
3
2) 7=
2) 2
(3) 301
4
@311
4

Whatis% 1o,

3
2
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1. .

12.

13.

14.

Maggie had 74 beads. 28 of the beads were pink and the rest were
white. Maggie’'s mother gave her another 33 white beads.

How many white beads did Maggie have altogether?

(1) 46

(2) 85

(3) 113

(4) 160

How many common factors are there for 24 and 607
(1)6

(2)5
(3)3
(4) 4

What is the difference between the 3™ multiple of 6 and 4™ multiple
of 77

(1) 10

(2) 18

(3) 28

~(4) 36

The figure below is made up of four squares.
The area of each square is 25 cm?,

What is the perimeter of the figure?

(1) 40 cm
(2) 50 cm
(3) 70 cm
(4) 80 cm

Mates & Tests
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15.  Three rectangles (A, Band C) overlap each other as shown in the

figure below. Rectangle A covers glof Rectangle B and rectangle C

covers _i of Rectangle B.

What fraction of Rectangle B is not covered?

N
3
N
R
N

NI

N

2

o

—— -
N —
o S

(3)

~
p
5]-.: Elm =~ R e
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'SECTION B (40 marks)

Question 16 to 35 carry 2 marks each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. All diagrams are not drawn to scale. Answers in fractions must be
expressed in the simplest form. Marks will be awarded for relevant working.

16.  Write twelve thousand, nine hundred and six in figures.

Ans:
17. Find the value of 902 x 34,
) Ans;
18. The perimeter of a rectangle is 48 m.
The length is thrice its breadth.
What is the breadth of the rectangle?
Ans: U Sort
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19.  Draw a line paralle! to Line ST passing through point U.

s

20. Al the lines in the fi igure shown below meet at the center Pount O
Name the right angle in the figure below.

A

Ans: /_

21. Peteris sfanding at Point O and facing East. He then made a 225° turn in a
clockwise direcfion. Which direction will he face after the turn?

North

West—— O —&— East

l N

South

Angi _

Page 7 of 21 -
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22. Arrange the following fractions in as¢ending order.

Ans;

Alice had 144 buttons. éof them were pink and the rest were red.

How many red buttons did she have?

Ans:

24. Eric exchanged a $10 note and a $2 note for 24 coins. All 'the coins had the
same value. What was the value of each coin?

Ans: $_

School
porc
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25. Using five out of the six cards given below, form the smallest 5-digit even
number. (Do not start with 0)

@lll@l

Ans:

26. The picture graph below shows the number of badges sold at three shops.

% % &
* & | Kk k | k&%
ok ok | ok k| ko

Shop A Shop B Shop C
Each $ stands for 145 badges

Find the total number of badges sold at the three shops.

Ans:

Page 9 of 21
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27. The rectangle and the square shown below have the same perimetet.

12 cm

5cm

Rectangie
Square
Find the iength of each side of the square.

Ans; cm

28. The figure below is made up of three identical rectangtes and three identical
squares.
Find the perimeter of the figure.

~6cm

Ans: cm

portc
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29. Draw a line perpendicular to AB in the grid below from A.

30. Complete the following pattern:

PC L AL 2L §ALDH.

Ans: Ais

Bis

Page 11 of 21 poric
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31.. What is the missing number in the box?

?

22
6

=3 =
3

Ans:

32 Express 2% + 2-;- as a mixed number.

ANs:

33. Study the figures given below.

2 dlio @it

What is the number repre;r,ented by Z?

NG
&2

Ans:

= Schoot
porc
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34. 4 -
4 | . I ,
5 of the marbles are blue and 3 of the remainder are yellow. The rest are

green. What fraction of-the marbles is green?

 Ans:

35. 4
Mr. Ong bought ;kg of sugar on Sunday. He used %kg of sugar on

1
Monday and fﬁkg more on Tuesday than on Monday. How much sugar had
he left?

Ans: kg

Page 13 of 21
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SECTION C (35 marks)

For question 36 to 44, show your working clearly in the space provided below
each question and write your answer with suitable units in the spaces
provided. All diagrams are not drawn to scale. Answers in fractions must be
expressed in the simplest form. Marks will be awarded for relevant working.
The number of marks available is shown in brackets [ ] at the end of each
question or part-question. '

36. Helen has 462 stamps. Ken has 728 stamps.

How many stamps must Ken give to Helen so that they have the same
number of stamps?

Ans: (3]

37. Samuel bought some hotdogs. He used i— of them on Friday for his BBQ

and % of the remaining hotdogs on Saturday. On Sunday, he used the

remaining 96 hotdogs. How many hotdogs did he use on Friday?

Ans: [3]
portc
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38.

Yani wants to divide 48 blue marbles and 80 yellow marbtes equally and
place them into some bags.

The number of blue and yellow marbles in each bag is different.
All the bags must have the same number of marbles of each colour.
(@)  Whatis the greatest number of bags of marbles Yani can get?

(b)  Whatis the total number.of marbles in each bag?

Ans: (a) [2]

(b) (1]

Page 15 of 21 .
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39. Eien h_as a piece of rectangular paper measuring 20 cm by 17 cim.
He folded the paper into halves two times as shown below.

20 cm

Eien then made two cuts each measuring 5 cm as shown in Figure 1 below.
20 cm

Figure 1 Figure 2

Find the remaining area of the paper as shown in Figure 2.

Ans:; 4]
portc
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40. Joanne saves 50 cents inw

eek 1 and $1 in week 2.
Every week, she saves 50 cents more than the previous week.

How much will she have at the end of week 67

Ans: (4]
e e et o ety
portc
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41.

Daniel bought 9 bags of cookies. In each bag, there were 15 cookies.

He then packed all the cookies into 3 boxes.

The first box: contained twice the number of coodkies as the second box
The third box contained 41 less cookies than the second box.

‘How many cookies were there in the second box?

Ans:
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42.

Anna has $130. She wan

book fair. A book cost §7
a) What is the greatest to
b} How much more mone
books?

ts to buy an equal number of books and pens at a
each and a pen cost $2 each.

tal number of books and pens she can buy?

y will she need if she wants to buy another 4 more

Ans: (a) [2]
(b) 2]
Page 19 of 21
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43 Jason and Alex are stamp collectors. -i—qf Jason’s number of stamps is

the same as % of Alex's number of stamps. If Jason has 108 more

stamps than Alex,
a) How many stamps does Alex have?
b) How many stamps must Jason give Alex for both of them to have
an equal number of stamps?

Ans:- a) [3]

S
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44, In the figure below, ABCD is a 20 cm-square and EFGH is a rectangle.
The total area of friangles X and Y is 64 cm2
Find the area of rectangle EFGH.
- 20 cm
A _ E B

Ans; [5]

-End of Paper-

Please check your work carefully ©
Setters: Mr. Johnson Ong

Ms. Aubrey Ong
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EXAM PAPER 2013
SCHOOL : RAFFLES GIRLS’

SUBJECT : PRIMARY 4 MATHEMATICS

TERM : SA1

QL 1Q2) Q3 /Q4]Q5|/Q6| Q7] Q8[ Q9 [Qi0][Qii]Qi12[Qi3|0i4] 015
4 2 4 2 4 2 4 3 2 2 2 1 Ql Q2 Q3
16)12906 17)30668 18)6m 19) [ r
[~
20) /GOA 21)North-West T =
) \ /%T
22)1Ya, 14/7, 21/8, 21/3 23)120 : U N4
24)$0.50 25)20348  26)$2900
27)12cm 28)48cm 29)
. 30)Ais l Bis (
[~
_ T
©.31)2 =
g /
32)2s/6
33)30 |
34)4/9
35)3/10 kg ‘

page 1to3 page 1
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36)462 + 728 = 1190
1902 = 595
595 — 462 = 133
Ken must give 133 stamps to Helen.

37)96=3 =32
32x2 =64

38)a)16 bags
b)8

39)20x 17 = 340
10 x10 = 100
340 —-100 = 240
The remaining area is 240cm2

40)W1->50c¢
W2->4$1
W3->4$1.50
W4->$2
W5-5%$2.50
W6->%$3
$1.50 + $4.50 + $3 = $9.00

41)135 + 41 = 176
176+4 = 44
There are 44 cookies in the second box.

42)a)7 +2 =9
130+-9 =14 R4
14x2 =28
She can buy 28 bookes and pens.

- b)7x3 =21
21 + 7 = 28
28—4 =24

She would need $24
43)a)3u—->108 _
1u>108:-3 =36
5u->36 x5 =180

b)108<2 = 54

page 2

School
_ portc
Powered by: www.schoolporto.com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg




44)64=-2 = 32
32x2 =64
64=8x8
20—-8=12
12x12 =144
144 + 64 = 208
20 x 20 = 400
400 - 208 =192

The area is 192cm2

Page3
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Section A (40 marks)

For questions 1 to 20, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct ovals (1, 2, 3 or 4) onto the
Optical Answer Sheet provided. Each question carries 2 marks.

1. In 24 589, the digit ‘2" stands for

(1) 2tens

(2) 20tens
(3) 200 tens
(4) 2000 tens

2. Which of the following is a multiple of 127

(1y 74
(2) 9%
@ 3
4 4

3. 89 X 47 s the same as

(1) 8x47+9x47¢
(2) 89x4+8IxXT%
(3) 80x40+9x7Y
(4) 89x40+89x7"%

4. 4% expressed as an improper fraction is
28 36
1 — 2 —
(1) 3 (2) g
39 47
3 — 4 -
(3) 2 (4) g
portc
2
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Which of the following is not an equivalent fraction of g?

6 8
1 A -
O g (2) 5
10- 12
3 — 4y =
©) 15 ) 15 -

Which of the following is not true for a rectangle?

(1} The opposite sides are equal
(2) The opposite sides are parallel
(3) The sides that meet do not always form perpendicular lines

(4) All angles are right angles

Figure ABCD is a square. Name the angle that is 45°

A B

D C
(1) Z BCDi
(2) £ CBA
(3) < CDB
(4) Z BAD:

portc
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8.

S{udy the table below and use the information fo answer questions 8 and 9.

The table below shows how a group of students come to school.

Most of the students come fo school by

2)
(3)
4

Walking

School Bus
Private Transport
Public Bus

Instead of taking the public bus, 2 girls decided to take the school bus to

school. The least number of the students come to school by

(1)
(2)
(3)
(4)

Walking

School Bus
Private Transport
Public Bus

School
portc
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10.  The figure below is made up of 2 identical rectangles.

11.

12.

What is the perimeter of the figure?

(1)
(2)
(3)
(4)

59 000 is obtained by rounding off

(1)
)
()
(4)

Find the product of 46 and 239.

13cm

Af

Y

Tem

20 cm
66 .cm
73 cm
80 cm

58 099.

58 499
59 049

59 100

(1) 285

(2)y 2390

(3) 10994

(4) 12 194

to the nearest hundred.
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13. The figure below is a square (not drawn to scale). It is formed by 2 small

14,

15.

identical squares and 1 rectangle. The area of a small square is 36 cm? Find

the perimeter of the rectangle.

(1) 24 cm
(2) 36cm
(3) 54cm
4y 72cm

What fraction of the shapes are circles?

(1)

e
2

e

3) (4)

N
| —

: : .3 . 1 .
The length of Tina’s ribbon is Zm. Helen'’s ribbon is —m longer than

Tina's ribbon. What is the total length of Tina's and Helen's ribbon?

1
(1) ik (2 2m
2 1
3) Im 4)  1—m
3 @ 4
porto
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16.

17.

The figure below is not drawn to scale.

10 cem

18 cm

-

\

4 cm

7 cm

What is the perimeter of the figure?

(1)
(2)
(3)
4

39 cm
45 cm
56 cm
61cm

Mr Tan's age is a multiple of 8 this year. Next year, his age will be g multiple of

7. How old is he this year?

(1)
2)
(3)
4

40
42
45
48

portc
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18.

19.

20.

Adil used a wire and made two identical squares. He placed the squares

over one another and formed a figure with a smaller square in the middle.

How many right angles are there in the figure he formed?

12

14

2
Sue received her salary for the month of June. She gives E of her money to

her mother, If she gave her mother $208, how much was her salary for the

month of June?.

(1)
(2)
3)
(4)

$104
$416
$520
$1 040

Betty spent $46 on 17 pens and 'penc_ils. Each pen costs $3 and each

pencil costs $2. How many pencils did she buy?

(1)
@)
(3)
(4)

School
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Section B (40 marks)

For guestions 21 to 40, show your working clearly in the space below each

question and write your answer in the answer boxes provided. Give your answers
in the units stated. Each question carries 2 marks.

21. Find the greatest odd number that can be formed with all of the following

digits : 6, 9, 3, 0and 8

22.  The third common muitiple of 4 and 6 is

23.  The quotient when 5 688 is divided by 9is _

24, Find the number in box below.

6 8
3|
16

X
2 9

i School
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3 .
25. Express 4; as an improper fraction.

26.  Simplify 1% -

3 .
27. Shade g in the following diagram below.

00006
©00®O
© 0006
©000

28. A numberis 260 when rounded‘off to the nearest 10. What could be the

greatest value of the original number?

10

portc
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29.  The length of a garden is twice its breadth. The perimeter of the garden is
24m. Find the length of the garden.

30.  In the figure below (not drawn to scale), WXYZ is a rectangle. Find the

value of ~a.
W X
[2]
67"
7 Y

31.  Using your set squares, draw a line that is paraliel to the given line AB
through point C. |

11
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32, A bigger square and a smaller square were usad i form the iigure beos,

Find the ared of fhe shaded parts,

10 e

i

‘ tm?

33 Leo had 5290, He donated 5 of It to charity. How much had he ke

2

3
M, Mrs. Tang used = of oll lo cack her meal and had G40 ml lef, How much

ol did shee havve af first?

12

il

—_— —p


Rum
Stamp


35.  Name a pair of parallel lines in the figure given below.-
D

36.  How many right angles are there in the figure below?

13
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Study the graph below and use the information to answer question 37 and 38.

Scores for Mathematics Test
25
A
20 ¢\ //
S e
\ f"
e e
15 S
10
5
0
Sarah Jiayi Bala All Danny
Students
37. If the maximum score for this test is 25 marks, what fraction of the score did
Sarah get? Give your answer in the simplest form.
38.  Whatis the difference between the student that scored the highest and the

student that scored lowest in this test?

School
portc
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39.

40.

Helen bought some butter. She used % of it and had 800g left.

How much butter did she buy? Leave your final answer in kg.

kg

i

A storybook has 125 pagjes. Willy read 50 pages of the storybook on

Monday and 45 pages on Tuesday. What fraction of the storybook had he
not read?
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Section C (20 marks) '

For questions 41 to 45, show your working clearly in the space below each
question and write your answers in the blanks provided. The marks for each
question or part question are given in the brackets.

41. Desmond earns $5 285 a month. He earns 5 times as much as Sally. How

much do .they earn altogether in a month?

Answer: (4 m)

School
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42. A shopkeeper buys 167 cartons of drinks. Each carton has 24-cans of

drinks. He then packs the drink's‘_,boxes of 6 cans each. If he sells away 236
boxes, how many boxes of drinks has he left?

Answer: (4 m)

17
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43. Jamie wanted to buy some cakes and pizzas for a party. One cake cost as
much as 2 pizzas. If she bought 2 cakes and 5 pizzas for $252, what is the

cost of a cake?

Answer: 4 m)

School
portc
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44. Rajah had some amount of money at first. He spent % of his money on a
5

: 1
music player and -5 of it on a camera. If he had $144 left, how much did he

have at first?

Answer: ] (4m)

19

School
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2
45, Kathy had 108 stamps. She gave ~§ of her stamps to Hannah and 69

~ stamps to Sarah. How many stamps had she left?

Answer: (4 m)

~END OF PAPER~
Have you checked your work thoroughly?
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EXAM PAPER 2013

SCHOOL :

TERM

ROSYTH SCHOOL
SUBJECT: PRIMARY 4 MATHEMATICS

SA1

Q1

Q2

Q3

Q8

Q9

4

2 4

Q10
2

Q11 Qi2 [ Q137Q14] Q15[ Q16 | Q17
3 3 2 4

Q138

Q20

4

Q19
3

3

Section B
Q21) 98603
Q22) 36
Q23) 632
Q24) 7
Q25) 31/7

Q26) 1 1/9

WLNoooo
@000
OO0 00
O000

Q28) 264
Q29) 8
Q30) 23°
Q31)

A

/
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© Q32) 20cm?

Q33) $180

Q34) 1120ml

Q35) GD//IH//FC//K3//EB/[GH/[13//KA
Q36) 8

Q37) 4/5

Q38) 8

Q39) 2

Q40) 6/25

Section C

Q41) 5285 ~ 5 = 1057
5285+1057 = 6342

They both earn $6342 altogether in a month.

Q42) 167 x 24 = 4008

4008 ~ 6 = 668

668 — 236 = 432

He left 432 boxes of drinks.
Q43)2x2=4

5+4=9

252 -9 =28

28x2 =56

The cost of the cake is $56.

Q44) 1/3x 3 = 3/9
3/9 +4/9 = 7/9
89/9-7/9 = 2/9
2/9 = 144
1/9=72
72X 9 = 648
He had $648 at first
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-~ Name:

SINGAPORE CHINESE GIRLS’ SCHOOL. (PRIMARY)
FIRST SEMESTRAL ASSESSMENT 2013

PRIMARY 4
MATHEMATICS

X

Class: Primary 4SY/C/G/SE/P

Time: 1h45 min

)

Parent’s Signature:

Maiks:
100

~ Section A: { 30 marks ) )
Questions. 1 to 15 carry 2 marks each. For each question, four options are given.
One of them is the correct answer. Make your choice (1, 2,73 or4). Shade:the
correct oval (1, 2, 3 or 4) on the Optical Answer Sheet;

1. Which one of the following is equal fo 37007

(1
@)
(3)
4

37 ones-

37 tens

37 hundreds
37 thousands

2. Round off 19 499 {o the nearest hur’td_red;

(H
@)
®)
4)

19 000
19.400
19 500
20.000

3. Which of the following is not a commen factor of 12 and 167

(1
@
(3)
)

AW N A

o Powered by: www.schoc;lpbrto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg'



I am a number between 20 and 40. | am a muitiple of 4.

What number am {?

(y 16
(2 28
(3) 34
(4). 48

Round off each number to.the nearest ten. Then estimate the value of

105 —~ 14 — 58,
(1) 20
@ 30
@) 40
@ 50

Which line.in the figure below is paralle! to GF?

(1) AB
() BC
3 Db
(4) DE

School
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7.

Which one of the following angles'is greatér than a right angle?

cv L

(1)
)
(3)
“4)

How many quarters are there in 7% ?

(1)
(2)
3
4)

o0 @ >

14
15

28
30

A mango cost $2. A box of 3 mangoes cost $5. Ling Ling bought 13 mangoes
altogether. What was the least amount of money that she paid for the

mangoes?
1 $17
@ %20
3). %22
4 %26
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The graph below shows the number of people who visited a brary from Monday
to Friday. Study it carefully and answer Questions 10 and 11.

Visitors to a library

Number of visitors

Monday  Tuesday Wednesday Thursday Fridav

10. How many people visited the library on Monday, Tuesday.and Thursday?

(1) 850
() 950

(3) 1100
(4) 1950

11.  The number of.people whe visited the library on Tuesday was twice’as many as

on,
(t)  Monday
(2 Wednesday
(3) Thuisday
(4) Friday

School
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12.

13.

The length of each side of the square is'6 cm.
It has the same perimeter as the rectangle.

Find the tength of the rectangle.

Z2cm

7cm

square rectangle
(1) 10cm
2y 12cm
(3) 18cm
{4y 24ctm

After tumning 135° anti-clockwise, Ben.is now facing the Stadium.

Which place was. he facing at first?

School
Library MRT Station
Supermarket Ben Park
SN
Bank Playground
Stadium
(1)  Park
(2) MRT Station
(3) Library
(4) Supenmaiket

School
I otes B Tests.
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14.

15.

Shannon had exactly enough money to buy 12 files. She bought 8 files and had
$12 left. How much money did she have at first?

M
)
@)
(4}

$20.

$24
$36
$48

There were 5 pupils in a group. Each pupif shook hands with each of the other
pupils once. How many handshakes were there?

Q)
(2)
3
)

10
15
25
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SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)-
FIRST SEMESTRAL ASSESSMENT 2013
PRIMARY 4

MATHEMATICS

Name :

Class: Primary 4SY/C/G/SE/P

(

)

40 |

Section B: { 40 marks }

Questions 16 to 35 carry 2 marks each. Write your answers in the spaces
provided. For questions which-require units, give your answers in the units

stated.

16.  Write 40 812 in words.

17. Fill inn the blank with the temrect number in the number pattém"beiow.

19704 , 19854

?

. 20154 , 20304

Do not wiite
In this column

18. 536:x25=
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19.

List out all the factors of 8.

20.  Amange lhe following fractions from the smallest fo the greatest,
s 3 3
g8 ' 4 7 9
Ans: , , .
smallest "~ greatest
21.  Draw aline perpendicular to EF, passing through point G.
Es
F
e
22,

Draw a fine paraliel to RS passing throuigh point P.

Powered by: www.schoi biforto.
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Mandy pasted a piclure on a consiruction paper with a 5-cm border as shown

23.

below. The length of the construction paper is 30 cm and the breadth is 25 cm.

Find the area of the picture. (Figure not drawn o scale)

Ans: cm?

24.  Aschool bag costs thvee times as much.as a pencit case. The school bag

costs $24. How many pencil cases can be bought with $1047?

Ans

25.

The figure is made up of similar wriangles.

How many more friangles must be shaded to show that —§~ of the figure is
shaded? | |

Do not wrile
In this column
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%6 4-L_3 &
g 4 Oo not write
In this column
Ans:
27.  The figure below is not drawn to scale. ABCD is a square. ZABE = 145"
Find £x.
D C
E
X
145°
]
A B
Ans: ¢
28.

Mrs Wong bought 5 kg of longans. She kept -21- of-it for her family, ate -;? kg

and gave the rest o her neighbours. How many kilograms of longans did

she give to her neighbours?

10
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29.  The figure below is not drawn to scale. Find the perimeter of the figure.

Do not wrile
In this columa

(All lines meet at right angles)
_Ism 1 I
R Sem
“—— llem ——
Ans: cm
30.  Whatis the missing value in the box?
Express your answer in jts simplest form.
brr e ey Loy gy |
L L L L L I
5 6 l 7
Ans:
31.  The peiimeter of a square is 28cm. Find its area.
Ans: cm”

11
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32.  Fatimah had 9 erasers fewer than Wei Ling. She gave 12 erasers to Wei Ling. ] Donatwite
How many more erasers would Wei Ling have than Fatimah? = thés column

Ans

33.  TohTuck had 5 times as'much money as May Ling.
After Toh Tuck spent $155 and May Ling spent $18, they had the same
amount of money left. How much money did May Ling have at first?

Ans. § ‘

34. 24 coins are used to form.the autline of a square: The number of coins on each|
side of the square is the same. Find the number of coins on each side of the
square, )

Ans:

12 .
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35.

Numbers are writlen under the letiers ‘MATH’ as shiown below.

M A T H
1 2 3 4
5 6 7 8
) 9 10 11 -

Name the letter of the column in which the number 999 will appear.

13

Ans:

Do not write

. lnthis column
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Name : . ( )

Ciass: Primary4SY/CIG/SE/P

Section C: (30 marks)

For questions 36 to 43, show your working clearly in the space provided for each
question and write your answer in the space provided. The num ber of marks
available is shown in brackets [ ] at the end of each question or part-question.

36.  The sum of two whole numbers is 21. The smaller number is > of the bigger Do not waile
4 [a this column
number. Find the value .of the bigger number.
Ans: [3}
37. Four identical squares are afranged to form one big rectangle as shown in
the figure below. Thie perimetef of the big rectangle is 70 cm.
What'is the perime‘t_ef of & rectangle formed with two such squares?
Ans: o
6

) N School
i4 |
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Do notyaite~
lﬂl[ismhin;n'

38.  John had 80 more pokemon cards than Bala. After Bala gave away

24 Pokemon cards, John had 3 times as many Pokemon cards as
Bala. How many Pokemon cards did Bala have at first?

Ans: _ {31

39. Ms Seah bought two packets of pencils.
There are 37 pendlls in packet A and 65 pencils in packet B.
How many more pencils should she remove from packet B to be put
info. packet A'so that packet B. has 10 more pencils than packet A?

Ans: [

15
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Do not write

‘ In this coturnn
'40.  Wendy had four times as many stamps as Kelly. After Wendy had given
Kelly 30 stamps, they had an equal number of stamps.

How many stamps did they have aitogether?

,Ans:___‘_____[4]‘_ .

16
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Do ot wiite,
In this colurar

41. Lena, Nana and Mona collected a total of 258 beads. Nana collected 40
more beads than Lena while Mona collected 16 beads less than Lena.
How many beads did Lena colleci?

Ans: 4

17 s
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42.

Do not write.
1n this column

.. 3
Olivia spent g of her money on some clothes and % of her money on abag.

She had $36 left.
{8)  What fraction of her-money was left?

{b)  How much money did Olivia have at first? -

Ans: a) 2]

b) _ Bl
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60 sl wiite .
n ihiscolqu
43. MrWang sold a total of 40 papayas and durians for $368.
Each papaya was sold for $8 and each durian was sold for $10.
How many papayas did he sell?

Ans: : [5]

"END OF PAPER
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EXAM PAPER 2013
SCHOOL : SINGAPORE CHINESE GIRLS’ SCHOOL
SUBJECT: PRIMARY 4 MATHS

TERM : SA1

Q1 1 Q2103104 10Q5106[Q7] 08 Q9 qid[0ii]or Q13014015
3 3 3 2 3 4 3 4 3 2 3 2 3 3 2

Section B

Q16) Forty thousand, eight hundred and twelve
Q17) 20004

Q218) 13400

Q19)1,2,4and 8

Q20) 3/9, 5/8, 3/4

Q21) E
G F

22

Q22) y
\\ p
)

Q23) 500cm?
Q24) 13
Q25) 7
Q26) 3 1/8

. Page1o0f3

portc
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Q27) 55°
Q28) 2 %
Q29) 48cm
Q30) 6 2/3
Q31) 49¢m?
Q32) 33
Q33) $15
Q34) 7
Q35) T

Section C

Q36) 7u~> 21
iu>21+-7=3
3x4 =12 (Ans)

Q37) 70cm + 10cm = 7cm
/cm x 6 = 42cm (Ans)

Q38) 3u—-1u=2u
20> 24 + 80 = 104
lu->104 -2 =52
52+ 24 = 76 (Ans)

Q39) Total - 37 + 65 = 102

102 — 10 = 92
A->92+2=46

46 — 37 = 9 (Ans)

Q40) 3u—> 30 + 30 = 60
lu>60+3=20
20 x 5 = 100 (Ans)

Q41) 258 - 56 -16 = 186
186+3=62
62 + 16 = 78 (Ans)

Q42
a) 3/8 + 2/8 = 5/8
8/8 — 5/8 = 3/8 (Ans)

Page2 of 3
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b) 3/8 > $36
1/8 = $36 + 3= $12

$1% X 8 = $96 (Ans)

Q43)

No of Cost No of Cost Total Check
papayas durians

19 152 21 210 362 X

15 1120 25 250 370 X

16 128 24 240 368 v

Page 3 of 3
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PRIMARY 4 MID-YEAR EXAMINATION 2013

Name: | ( ) Dafe:1ZMay 2013
Class : Pimary 4 { ) Time: 8.00 a.m. - 9.00 a.m.
Barent’s Signaiure ; Y . Marks: /100

Paper 1 comprises 2 booklefs, A and B.

MATHEMATICS

PAPER 1

(BOOKLET A)
Time for Paper 1is 1 hour. | || BooklefA A
Do not open this booklet until you are told '
tod ' Booklet B
Read and follow all instructions carefully. :

. Total for

Answer dll guestions, Paper 1 40
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Paper 1 ( Booklet A)
Mulliple Cholce Questions

Questions 11o 10 canry 2 marks each, {20 maiks)

For edch question, four options are given. One of 1ﬁem is the correct answer,
Shade the correct oval (1, 2, 3 or 4) on the Oplical Answer Sheet.

1. Whatis the value of 2in 79 2147

{1} ¢

2] 90
(3) 900
@) 9000

2. 43875is when rouhg:!ed off to the nearest hundred.

(1) 43000
(2) 43800
[3) 43900

(4) 44000

3. In5429, what is the value of the digit in the tens place?

(20
(2} 30
(3) 40
(4 50

. School
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4. 9isafactorof :
1) 24
(2} 51
@) 64
(4} 81

5. % of d complete tum s

(1) 90°
(2) 180°
{3) 270°
(4) 360°

6. 45is a common multiple of .
{1} 5and4 |
2) S5and7 -
(3} 5and ¢
{4) S5and 10

7. The peiimeter of a square is 28 cm. th’r isits area? |

(1) 7cm?

{2y 1dcm?
{3} 49cme

4] 196 cm?

portc
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8. .

The figure below is not drawn 1o scale.

Which pair of lines Is parallel?

{1}. CDand X
{2} EFand GH
(3] EFand JK
(4} GHand K

| Size

Cost per plzza Qudnﬁly .
| Regular $11 5
Large $20 7

Alex bought 5 regulcr pizzas and 7 large pizzas.

How much change did Alex receive if he gave ’rhe pizza detlveryman

$2007?

(1) $5
20 $°
(3) $195
(4] $220

Mates & Tests
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10. Jared had 35 marbles left after giving %— of them fo Bala.
How many marbles did he give to Bala?
)5
(2} 7

{3) 10
{4) 14

End of Booklet A
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Paper 1 ( Booklet B)
Write your answers in the blanks provided. For questions which require units,
give your answers In the uniis stated, Questions 11 to 30 cany 2 marks each.

- {(40marks) L

1. Wiite 78 495in words.

2. Altin the missing number.

20300 | | 20240 | | 2 20120 20 060

13.  Wiite down the first two comimon mulliples of 4 and 6.

“and
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14.  Find the size of the £ABC.

B C
D
A
e B
4 .
! \
G F
6
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16. What s the quotient when 744 is divided by 87

17. Inachess club, —i— of the pupils are boys and the rest are girls. There are

15 giri's in the club. Find the total number of pupils in the club,

18.  The diagram below is not drawn to scale. GRST is a reciangle.

Find Za.
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19. 3 boocks and 2 pens cost $1 8 1 pen costs $6. Find the cost of 1 book.

21.  What fraction of Thc—g‘ figure below is shaded? Express your'dn'swer in iis

simplest form.

-
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The line graph shows the number of fruifs consumed by Primary 4 |
students in Twinkle Primary School from January 2012 fo May 2012.
Study the graph and answer questions 22 and 23,

Numbers of Fruits consumed from January to May

400
o 300 A=
1]
e . A
E ya 4 Z
S - N -
O 200 1 7 : ~ -7
2 Z <7
= _ﬁ/
100 ‘
0 - — l ; . .
January February March April May
Months
22, There was anincrease of fruits consumed from Apiil to Moy.

23.  Which T-month interval showed the greatest decrease in the number
of frults consumed?

From 1o
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Powered by: www.schoolporto.com *

System devé/oped by --lule -- 0752697211, irifo@,s_bhoo/porto.com

Need a home tutor? Visit smiletutbr.ég. :



04,

260

" 97.

- Convert 21;- to animproper fraction.

3for$2

What is the maximum number of apples that Miss Lim can buy with $9?

A number is greater than 15 but smailler than 20,

Colin is standing at poirﬁ X and facing North. He makes @ -i— tumina

clockwise direction, followed by a i- tumn in an anti-clockwise

direction. Which direction is he facing now?

10
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28 the Sgure b made up of 2 sauanas, ABJK and COHJ, and a rectangle,
EFGH. Find the pesimeter of the Bgure.

a8 cmn
o ——
Jcm
c A= o
10 em
B |
i
4cm I l
- ] ]
K J H L&)
om

2. Fndihe \ﬂjued%u‘rﬂ%, Expess YoUr answier in fis simplest form.

1
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Rum
Stamp


30.  What is the missing number.in the box?

8

b
N ~

End of Paper 1
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PRIMARY 4 MID-YEAR EXAMINATION 2013

Name ; { )

Date: 17 May 2013

Class: Pimary 4 } Time: 10.30 a.m. - 11.30 a.m.

| Parent's Signature.:

MATHEMATICS
PAPER 2

40

~Time for Paper 21s 1 hour.

Do not open this booklet until you are told to do so.
Read and follow dll instructions carefully.
Answer dll questions.

|
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Questions 1.to 10 carry 4 marks each. Show your working clearly in the
. space provided for each question and write your answers in the spaces
provided. For questions which require units, give your answers in the units
_ stated. {40 marks)

1. Meili, Sally and Devi have 1700 stickers altogether. Both Sally and -
Devi have an equal number of stickers. Meili has 200 stickers more
than what Sally has. How many stickers does Meili have?

Ans:
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2. Amy:% c:?n 4 years old."
Sii : "In 7 years’ fime, 1 shall be three fimes as old as you,
How old Is Siti now?

Ans:

3. Mrs Lim baked iwice as many cdpcokes as Mrs Ong. After Mrs Lim
gave 36 cupcakes to Mrs Ong, they had an equal number of
cupcakes in the end. Find the number of cupcakes-Mrs Lim had
at first.

School
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4, Poles A, B and C are measured. Pole A is twice as long as Pole B.-
Pole Cis 3 fimes as long as Pole A. If Pole A is 32 cm, whal is
- the totatlength of the three poles?

Ans:

5. .For every $6 saved each week, | get ancther $2 from my parents.
I have $512 in savings now. S
How many weeks do | take to save the m‘oneyz?

Ans:_
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4. Marcus has some marbles.
i he gives each fiiend 46 marbles, he will have 4 marbles left,
 If he gives each fiiend 7 marbles, he will be short of 5 marbles. -
How many maibles dbes Marcus have? |

Ans:

7. Jack had $152. Mary had -21~ as much as Jack. Rose had three

times as much as Mary. How much did they have allogether?

Ans:

4 . Mates & Tests
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8. The figure below is mdde up of 5 identical squares. The ared of
the shaded parts of the figure is 18 cm?. Find the perimeter of the
whole figure.

Ans:

9. John has a total of 40 apples and pears. If he exchanges
every pear for 2 apples, he will have 56 apples. How many apples

did he have af first?

Ans:
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10. | spent %Of my monhey on a file and -;i of my money on ¢ storybook.

Then 1 had $15 left.
" a} What fraction of my money was not spent? - {1 mark)
b} How much money did | have atfirst? ‘ {3 marks}

Ans: a)

End of Paper 2
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EXAM PAPER 2013

SCHOOL : TAO NAN PRIMARY SCHOOL
LEVEL : PRIMARY 4

SUBJECT : MATHEMATICS

TERM : SAl

Booklet A

o102 Q3] 04a] Q5 06 1.07 [ 0800 Qo]
a | 3 |

-~ 11. Seventy-eight thousand, four.-hundred and ninety-five. .. . .:
12. 20180 '
13. 12and 24

14.85degree

15. AD

16.93

17.25

18. 52degree

19.2 dollars.

20.100

21.1/6

22.130

23. March to April

24,2219

2512

26.18

27. South

28.58

29.1§

30.5
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- PAPER TWO: _

1. 1700-200=1500
1500+-3=500

- 200+500=700

2. 4+7=11
11X3=33
33-7=26

3. 36x4=144

4. 32-2=16
32x4=128
128+16=144 cm

5. 6+2=8
512:8=64

6. 58 o

7. 162.2=76
76x3=228

- 228+76+152=456 dollars . - .

8. 18+2=9
9=3x3
12x3=36

9. 56-40=16
40-16=24

10. a).3/9=1/3
b)15+:3=5"

5x9=45

Mates & Tests
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Auglo:@linese ',%n[;’n:ﬂ @E itivary)

END-OF-YEAR EXAMINATION 2013

MATHEMATICS
BOOKLET A
PRIMARY FOUR
Name: , { ) Class: Primary 4 __
Date: 25 October 2013 ) Duration of Booklet A & B: 1h 45min

INSTRUCTIONS TO CANDIDATES

This question paper consists of 8 printed pages.

Do not turn this page until you are told to do so.

Follow all instructions carefully.

Shade your answer on the Optical Answer Sheet (OAS) provided.

bl S
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SECTION A - Multiple Choice Questions (.1_ 5 Questions x 2 Marks)

Questions 1 to 15 carry 2 marks each‘,.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade the correct oval (1, 2,30r 4) on the

" Optical Answer Sheet (OAS)

1. In which of the following numbers does the digit 8 stand for 8007

(1) 5208

(2) 8345

(3) 4983

(4) 9857

2. In which of the following are the numbers arranged from the smallest to
the greatest?

{smaflest) (greatest)
(1) 3608 , 3860 , 3068
(2) 3860 , 3608 , 3068
(3) 3068 , 3608 , 3860
- (4) 380 , 3068 , 3608
3. 36 is a common multiple of
(1) 2and 5
(2) 3and 4
(3) 6and 8
(4) Zand 12
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How many one-quarters are there in 2 wholes?

1
(1) IE
1
2 fd
(2 24
(3) 8
4) 4
?
P
11 11

What is the missing number in the box?

(1) 63
2) 74
(3) 99

(4) 106

Jeff has 24 more stamps than Karev. If Jeff gave away % of his stamps,

he would have 35 stamps left. How many stamps did Karev have?

(1) 11
) 18
(3) 42
(4) 66

School
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In which of the following numbers does the digit 4 stand for
4 tenths?

(1) 167.42
(2) 184.39
(3) 235.64

(4) 249.63

Which of the following figures can be tessellated?

S
O
o8
O

(4)
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10.

0.45 is the same as

5
1) 4+—
@) 10

4 5
2 ——
@) 10 10

@ A5
100 1900

4 5
4)
“ %100

Find the sum of 0.7 and 234.87 .

Round off the answer to the nearest tenth

(1) 235.0
(2) 2355
(3) 2356
(4) 236.0
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11.  In the figure below, AB is a straight line. Which one of the following is the
~ best estimate of /x? ‘

(1) 35°
2) 79°
(3) 155°

(4) 180°

12. Alexieft his home at 10 35 for the mall. He boarded the bus 15 minutes later
and reached the mall at 11 22. What was the duration of his bus journey?

(1) 32 minutes
(2) 47 minutes
(3) 72 minutes

(4) 87 minutes
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13.  Sharon has 210 oranges. She packs the orangés into boxes. Each\-g(gé'
contains 9 oranges. What is the maximum number of boxes that she can

14.

(1)

pack?

(1 21
@ 22
3) 23

(4) 24

Which one of the following figures has perpendicular lines?

2)

()

(4)

>N06
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15.

Thé figure shown below, not drawn to scale, is made up of square ABCD and
rectangle WXYZ. The length CD is 24 o and the length XY is 5 cm. |
The area of rectangle WXYZ is 180 cm?.

Find the perimeter of the figure below.

A B

W X
Area = 180 cm’” $5 om
Z Y
D> —C
24 em -
(1) 168cm
(2) 178cm
(3) 276cm
(4) 756cm
8
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Buglo-Glinese Bchonl (Primary)

END-OF-YEAR EXAMINATION 2013

MATHEMATICS
BOOKLET B
PRIMARY FOUR
Name: { ) Class: Primary 4
Date: 25 October 2013 Duration.of Baokiet A & B: 1h 45min

Parent's/Guardian’s signature

INSTRUCTIONS TO CANDIDATES

BN =

This question paper consists of 16 printed pages.
Do not turn this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

A. Multiple~-Choice-Questions 30
B. Short Answers ' 40
C. Problem Sums 30

Total Marks | 190
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SECTION B - Short Answers (20 Questions x 2 Marks)

Questions 16 to 35 cany 2 marks each. Show alf workings clearly.
Wirite your answer in the space provided. Give your answers in the units stated and in

its simplest form whenever possible. _

5
186, Write -é?i as a mixed number in its simplest form.

Answer:
17.  Write the missing number in the number pattern below.
5893, 5548, , 4858 , 4513
Answer :
18. Two factors of 87 are 1 and 87. What are the other factors of 87?
Answer ; and .
portc

Powered by: www.schoc;lpbrto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



18. Inthe figure shown below, WXYZ is a rectangle. Find the value of Za.

w : X "
\18%
a
25°
Z —Y
Answer:

20. Inthe figure below, rectangle ABCD is made up of 6 unit squares.
What fraction of rectangle ABCD is unshaded?

Answer
21, 365= >
?
What is the missing number in the box?
Answer :
porto
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22. The cost of a laptop is $975. Michael bought 12 such laptops. How much money
would he have left if he paid using twelve $1000 notes?

Answer:$
23. Find the value of 16.97 x 8,
Answer :
24. Mary is facing the market. if she tums ¢ anti-clockwise,
she will face the park. |
Park
Library Playground
Supermarket ' Mary e Shopping
/, Centre
Market
Bus stop
MRT
station
Answer : 0
ports
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25. A file and a notebook cost $3.70. Danny bought 4 such files and 5 notebooks for
$16.40. How much did each notebook cost? '

Answer: $

26. 8.56- 6.78 =

Answer:

27. T_he figure below, not drawn to scéle, is made up of 3 identical squares. The
length of AB is 18 cm. Find the area of the figure given.

A

A

18 cm

Answer : cm

School
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Study the graph below carefully and answer questions 28 and 29. The graph
below shows the number of pupils who visited the dentist from Monday to Friday.

i

N

Number of pupils
cnw b LERBH S
S| EURR RN DR AN S

SO PR Y

g1
3

Mon Tue Wed

28. On which day was the number of pupils who visited the dentist %—of the total

number of pupils who visited the dentist from Monday to Friday?

Answer: .

-28. How many pupils visited the dentist on both Monday and Tuesday?

Answer :
portc
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30. Atankis % full when it is filled with 12 ¢ of water. How much water will there be

when the tank is 21 full?

Answer: £

31. Jasmine takes 1 h 45 min 1o sew a dress. If Jasmine finished sewing at 12 35, at
what time did she start sewing the dress?
Give your answer in the 24-hour clock format.

Answer :

32. A pail containing 9 identical metal blocks weighs 12.5 ‘kg. If each metal block
weighs 1.3 kg, find the mass of the pail.

Answer ‘ kg
portc
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33. Complete the symmeiric figure using the dotted line AB as the line of symmetry.
A

::°34. In the figure below, the length of AB'is equal to the length of CD. The length of EF
is equal o the length of FG. Find the area of the figure below.

4“-“—‘——PA
16m 4m

‘F4 P

16 m

o
A
i
lw}

" 36m

Answer : m

35. Round off the sum of 4.56 and 6.95 fo the nearest whole number.

Answer :
poric
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SECTION C - Problem Sums (30 Marks)

For. each question from-36 to 43, show your working and mathematical statements
clearly in the space below each question. Write your answer in the answer space
provided. Give your answers in the units stated and in its simplest form whenever
possible. Marks awarded are shown in the brackets [ ].

36. Jenny was reading a storybook. She read % of the book on Saturday and read % of it

on Sunday.

a) What fraction of the storybook was not read? (Give your answer in its simplest form.

b) If she had 36 more pages to read, how many pages did the storybook contain?

Answer: (a) (11

(b) [2]
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37. Vidya had some money. She wanted to buy 12 muffins but she was short of $4.55,
Instead, she bought 8 muffins and had $1.25 left.
How much money did she have at first?

Answer: [3]
portc
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38. Raymond and Jessica have a total of 748 stickers. Sarah and Jessica have a fotal
of 935 stickers while Raymond and Sarah have-a total of 1177 stickers. Frances
has 15 fewer stickers than Raymond. How many stickers does Frances have?

Answer: [ 41
porc
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39. Mrs Fang sells two types of cakes. The chocolate cake costs $3.50 each and the
marble cake costst$4.10 each. If she sold 100 cakes in total and collected $392
how many: chocolate cakes did she sell?

Answer. [ 4]

portc
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40.

3 oo : 1
—- of a class of pupils like archery, ZOf the remaining pupils like bowling and the

rest like chess. There are 2 more pupils who like chess compared to archery.

a) How many pupils like bowling?

b) How many pupils are there in the class aitogether?

Answer: (a) [2]
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41. The figure belbw, not drawn to scale, is made up of Square A and Rectangie B.
The area of Square A is 64 cm?. If the fotal area of Square A and Rectanale B is
288 cm’?, what is the perimeter of the figure?

A B
Answer: _ 141
portc
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42. Maggie took 40 min to walk from. her home to the shopping centre. She then spent
the next h 30min.at the cinema watching a movie. After that, she left the
shopping centre and arrived home at 17 50.

If her retumn trip home took 15 min jonger than her walk to the shopping centre, at
what time did she leave her home for the shopping centre?

Answer: L 4]
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43, Bag A contains 26.5 kg more peénuts than Bag B. Aﬁer 4.55 kg of peanuts were
removed from Bag B and placed into Bag A, the mass of Ba_g-A was five times the
mass 6_f Bag B. What was the mass of peanuts in Bag A at first?

Answer: A — [ 4]

END - OF — PAPER
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EXAM PAPER 2013

SCHOOL :
LEVEL : PRIMARY 4
SUBJECT: MATHMETICS
TERM SA2

ANGLO-CHINESE PRIMARY SCHOOL

Booklet A

Q1

Q10

Q1110121013 | Q14 | Q15

02
a4 ] 3

16. 6;

17. 5203

18. 3 and 29

19.47

20. 7112

21.100

22.300

23.135.76

24. 225

25.1.60

26.1.78

27. 243

28. Thursday

29. 40 pupils

30.27

31.1050

32.0.8

33.

34. 576

35.12

36a) 1-1/4-7112=2/12=1/6
b) 36/2=18

18 x12=216
37.12-8=4
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4.55+1.25=5.80
5.80/4=1.45
1.45x8=11.60
11.60+1.25=12.85
38.117+748=1925
1925-935= 990
990/2=445
495-15=480
39. C+M =100
3.6C+4.1M=392
3.5C+3.5M=350

0.6M=42
M =70
100-70=30

40. 1/4=2/8
_6u-3u=3u
3u=12
U=4
a) 4x2=8
b) 4x11=44
41.64/8=8
288-64=224
224/8=28
28+8=36
36+8=44
44x2=88
42. 40+15=55
40-25=15
Answer: 14 45
43.26.5+4.55=35.6
35.6/4=8.9
26.5+8.9+4.55=39.95 kg
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Al TONG SCHO®L

2013
SEMESTRAL ASSESSMENT 2
PRIMARY 4 '
MATHEMATICS
DURATION : 1 h 45 min
DATE : 23 October 2013 -

INSTRUCTIONS .
Do not open the booklet until you are told to do se.
Follow all instructiens. - |
Answer all questions.

Section A 98
Name S . R ) ‘ _ :
Class :Primary 4 Section B A
Section C - _ 4
Parent’s Signature : _ _ - -
Date i | | ~ |Totat | 00
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Section A : , _
Questions 1 to 14 canry 2 marks each. For each question, four options are given. One of-
them is the correct answer, Make your choice {1, 2, 3 or 4). Shade the oval (1, 2, 3or 4)

on the Optical Answer Sheet with a 2B pencil. {28 marks)
1 54 thousands and 6 tens is the same as
(1) 5406
(2) 54008
(3) 54060
4 54600"
2 In which of the following are the numbers arranged from the smailest to the
greatest? -
(srﬁai!est) {greatest)
(1) - 6850, 6058, 6580
(2) 6058, 6580, 6850
3 6580, 6850, 6058°
(4) 6058, 6850, 6580
3 The figure shown is made up of identical thiangles; -
What fraction of the figure is shaded?
N 4
(N 5 <
W
. )
| /b7
5
(€ b
7
L
Pﬁ:Maﬂ'x SA2 2013 (O
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4 Find the value of '1% B %
{1 % |
) ‘i‘
@
(4) %

5 The digit 6 in 28.56 stands for 6

() ones
(2 tenths
(3)  hundredths

4 thousandths

6  Wiite 7£ asa decimal,

25
M 7.08
@ 72
ks) 7.225
(4 7.8
P4 -MathSA2 2013 2
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7 The figure weiow is not drawn t6 scale. Given that all the lines meet at right angles,

find the perimeter of the figure.

M
(2)
3
4

115 cm

133 cm

168 cm-

186 cm .

2cm

JL:i O 1] g
18 cm
32 cm|
v\
) 43 oM -

8  The figure below has an area of 36 cm?. Itis made up of 4 ‘idérfical squares.

If the squares wgére rearranged to form the rectangle below, what is the perimeter of

this rectangle? -

(1) 30cm
(2) ©60cm
(3) - 9%cm
4) 180cm
P4 Math SA2 2013
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The table below shows the number of P4 pupils taking part in different activities at the start

of LiveWell one afternoon. Each pupil took part in only one activity.

Study the table carefully and answer questions 9 and 10.

Acfivity Camp Craft First Aid &uﬁ?r?gr i Clxg; g
Number of .
pupils 95 59 56 70
1
9 5 of all the participanis took part in one of the activities. Which activity was this?
(1) Camp Craft
)  First Aid
(3) Outdoor Cooking
(4)  Rock Climbing

10 Midway through LiveWell,. some stoves got damaged. 10 pupils from Outdoor
Cooking had to stop their activity and join the pupils for Camp Craft instead.
Which one of the following fables correctly shows the number of parficipants in the

“end?
iy Camp . . Outdoor Rock
Q) Agtw:ty Craft First Ad Cooking | Climbing
Numberof | g5 59 | 46 70
pupils ) L .
. Camp T “Outdoor Rock
(@) | Activity Craft | FIStAd | cooking | Climbing
Number of CariE . '
pupils 105 59 . 46 .70
o Camp | = ... | Outdoor | Rock
(3) | Activity Craft | FWSYAD | Gooking | Giimbing
Number of .
pupils 25 59 . 56 70
- Camp - Outdaor Rock
(4) | Activity ~ Craft First Ad Cooking Climbing
Number of .
pupils 85 58 66 70
P4 Math SA2 2013 4
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11 How many litres of water arethere in.the beakers shown?

)

)
3
(4)

13
1§6£

2 ¢
3¢

21—0{

12 In the diagram below, the letters P, S, L and E are drawn on a square grid.

How many of the above leiters has/have a line of symmetry?

(1) 1
@ 2
- 3
@ 4
P4 Math SA2 2013
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13 WanYi checked the TV gu:de and found that “Junior Masterchef” would begin in-
40 minutes’ time.

| 11.00a.m. | Mister Maker Comes to Town |
11.25a.m. | Tweenies ]
11.50 a.m. | Little Einsteins

12.25 p.m. | Junior Masterchef

1.30 p.m, Green Crusade
2.00 p.m. Sesame Street
-2.45p.m. | Batman and Robin

Which programme was on when Wan Yi checked the TV guide?

(1)  Green Crusade
(2) Sesame Street
(3)  Littie Einsteins

(4) Tweenies

14 Sally has three cards. Each card has a different whole number printed on it.
She added these numbers two at a fime, and got these sums : 94, 73, and 105.
The largest number on the three cards is 63.

What is the smallest number on the three cards?

(1 10
(2 2t
(3) 31
@ 42
P4 Math SA2 2013 o 6°
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Section B

Questions 15 fo 34 carry 2 marks each. Write your answers in ihe. spaces provided. For
questions which require units, give your answers in the units stated. (40 marks)

15 Write the missing numberin the number pattern below.

658 , 808, 958, , 1268

CAns: -

16 Two factors of 26 are 1 and 26. What are the other iwo factors of 267

Ans: .__and’
17 6102+ 6=
JAns: _
5 ]
B 35 %
‘What is the missing number in the bok?
Ans: .
P4 Math SA2 2013 7. _ 8
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19 Which two of the fractions below are smaller than %?

N

3
4

b}

Ansi___ . and

' 20  Measure and write down the size of £x..

Ans:
21 Inthe figure, one of the lines is paraflel to BC,
Whitli‘ling-is parallel to BC?
B
Amc
D
Ans:

P4 Math SA2 2013
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22 Write the decimal represenied by A

AR i T T TTTT 1, d
0.490 T 05
: A
Ans:
23 Find the value of 7.09 % 8,
Ans;

24 The figure below is made up of Square A and Rectangle B.
The area of Square A ls 81 em?and.the area of Rectangle B is 252 ent’.
What is the length of Rectangle B?7

F 3
A i

?cm

Ans: an

P4 Math $A2 2013 9
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25  The grid shows the location of some landmiarks in Amy’s neighbourhood.
The theatre is north of the fbrary.

Interchange |
Music
School
- o
1
. Super- . N
Library market - ¥ %
| Foothall
_Field

(8) The bus interchange is to Amy’s northeast and the library is fo her west.
Mark an X on the grid to show whére Amy is.

(b) Shade the box on the grid t6 show the apartment block which will be
built southeast of the supermarket.

P4 Math SA2 2013 10
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26  Study the tesséllation below carefully.

.« o . e . e o
s - - -
-
« 1
-
« ¢ -
- . @
* b ety 4 i L]
e x ® u & - ! :
e o ¥ & ¥ o ] o——L‘—d\'

In the space above,
(a) shade a unit shape.

{b) extend the tessellation by drawing one more Unit shape.

27 Doris dréw a symmeric figure with the doited line as a line of symmetry. )
However, she erased some lines by mistake. Help her complete the symmetric
figure in the grid below.

P4 Math SA2 2013 11
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The line graph below shows the number of handsets sold every month from July to
December at Mobile Communications Shop.

Study the graph carefully and answer questions 28 and 29.

600

500 +

400.

300 -

200 e

Niimbet of haridsets

100 4

July Aug Sep Oct . Nov  Dec
Month -

28  The number of handsets sold in December was equal to the total number of
handsets sold-in July and September.

Complete the line graph above to show the number of handsets sold in December.

29 Which month showed a decrease in sales compared to the previous month?

P4 Math SAZ2 2013 12

Powered by: www.schoc;lpbrto. com
System developed by -- lule -- 0752697211, info@schoolporto.com

Need a home tutor? Visit smiletutor.sg



30  Draw the missing. second hand in Clock A fo show the correct time.

<:8 seconds earlier

31~ Faridah has a mass 6123.4 kg. Sheis 6.75 kg-heavier than hér brothier.
What is her brother's mass? Round off your answer to the nearest tenth.

Ans: | kg

32  Liling has fewer than 20 sweets. 1f she packs them into bags of 6 sweets each,
she will have 5 extra sweets. If she packs them into bags of 5 sweets each, she will
need another 3 sweets. How many sweets does Li Ling have?

P4 Math SA2 2013 13- L
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33 The patiern below is made up of dots arranged in rows and columns.

Pattern 1

Pattern 2

“Pattern 3

" Pattemn 4 Patiern §

(@

(8) Draw the arangement of dots for Paitern 3 in the box above. '

{v) i the same arrangement continues; which pattern would have 72 dots?

Ans: (b) Pattern

-

'34  The diagram below is made up of identical blocks.

P4 Math 8A2 2013
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Sectlion C

Questions 35 to 38 carry 3 marks each. Questions 39 to 43 casry 4 marks each. Show your
working clearly in the space provided below each question-and write your answers in the
spaces provided. _ ) (32 marks)

'35 MrOng bought 35 boxes of pencils. Each box contained 12 pencils, He repacked
all the pencils into packets of 8.

(8  How many pencils did Mr Ong buy altogether?
{b)  Hew many pencils were left unpacked?

Ans: (a) [4]
(b) {2}

© 36  Linda folded a rectangular piece of paper along the dotted line as shown below.

Before folding

After folding

Find the value of Zb:

Ans; | [3]

P4 Math SA2 2013 ) 15 -
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37 Ms Wong likes a neat garden. She plants.sonie flowering plants in a row.
The plants are 'an ‘equal distance'apart. The 1% plantis 0.72.m frony the 4" plant,

1 plant 4™ plant

0.72m

How far is the 3™ plant from the 10" plant?

Ans; , [3]

38 After spending % of his money' on a shirt and $15 on food, Ravi had' % of his

'gmney-left How much did Ravi have at first?
Draw and label a modet as part of your solution, using the bar printed below. [ 1]

Ans: _ [.él

_ P4 Math SA2 2013 16
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39  Dr Ho had o travel from Singapore to Malacca for work. He booked a ticket for the
bus that was scheduled 16 leave at 12 35. However, the bus only left at-13 20.

(a)  How muich later than the scheduled time did the bus leave?
(b)  Ifthe journey tock 3 h 20 min, at what time did Dr Ho reach Malacca?

Ans: (a) _[2]
) [2]

. . LN
40  Bruce and Charles had an equal amount of money. Bruce spent 3 of his money

oh some books while Charles spent% of his money on some DVDs.

If Charles spent $27 more than Bruce, how much did Bruce spend?-

P4 Math SAZ 2013 17
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41 Granny Smith bought a white rectangular towel with two identical wavy grey strips

as shown:

A

42 cm

L 4

25 cm

3cm

3 cm

Each wavy strip has a width of 3 cm as shown in the diagram above. What is the
area of the white part of the towel?

Aris : o __[4]

P4 Math SA2 2013
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42  Anna wanted to give $1.50 to Belta so that they would both have the' same amount of
money. In the end, however, Bella gave $1.50 to Anna instead. Anna ended up with
6 times as much money as Bella. How much did Belia have in the end?

Ans: . [4]

P4 Math SA2 2013
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43  Joseph had 5 shelves of books. At first, each of the shelves held an equal number
of books. Later, he selected 18 books from each shelf to be given away.
After that, the total number of books he had left was equal to the total number of
books on 2 shelves at first. How many books were there on each shelf at first?

___ 18books
Ans: . , 4] -
End-of-paper - : 74
Check your work carefully.
P4 Math SA2 2013 : 20
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EXAM PAPER 2013
SCHOOL : AI TONG

SUBJECT : PRIMARY 4 MATHEMATICS

TERM : SA2

Qi1 Q2]Q3 ]| Q4

3 2 4 4

Q9 10Q10(Q11 Q12 Q13 Q14
2

Q15) 1108
Q16) 2 and 13
Q17) 1017
Q18) 15

Q19) 2/5 and 5/12
Q20) 103
Q21) AD

Q22) 0.497
Q23) 56.72
Q24) 28

Q25)

Page 1 of 4
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Q26)

e e L
- )

- ’

. i

- -
- . @

Q27)

Q28)

Number of haridsets
- 5B 8 B &
/
SN

July Aug Sep. Oct Nov  Dec

Page 2 of 4
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229) November
Q30)

Q31) 16.7

Q32 17

33) 8

Q34) 4

Q353) 35 x 12 = 420
Ans: 420 :

Q35b) 420 /8=52R 4
Ans: 4

Q3637 x2=74
an -74 = 16
Ans: 16

QIN 07273 =024
D24 x7 =168
Ans: 1.68m

Q38)15/3=5
12 %5 =60

Q3%a) Time from 1320 to 1235: 45 min
Q3%b) 3 h 20 min after 1320: 16 40

Q40 27 x 2 =54
Ans: $54

Fage 3 of 4
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Q41) 3% 25 = 75
75 + 75 = 150
42 x 25 = 1050
1050 — 150 =900
Ans: 900 cm?

042) Su—= 1.5 x 4 = 46
-+ $6 /5 = $1.20

43)18x 5 =90
Ju: 9
g0/ 3=30
Ans: 30 books
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